OUTSPENDING TO WIN

(A Report on Campaign Finance and use of State Administrative Resources in the EKITI STATE 2018 Gubernatorial Election)





CENTRE FOR SOCIAL JUSTICE (CSJ)

(Mainstreaming Social Justice In Public Life)

OUTSPENDING TO WIN

(A Report on Campaign Finance and use of State Administrative Resources in the Ekiti State 2018 Gubernatorial Election)





CENTRE FOR SOCIAL JUSTICE (CSJ)

(Mainstreaming Social Justice In Public Life)

OUTSPENDING TO WIN

(A Report on Campaign Finance and use of State Administrative Resources in the Ekiti State 2018 Gubernatorial Election)

Written by

Eze Onyekpere Esq.



Centre for Social Justice (CSJ)

(Mainstreaming Social Justice In Public Life)

First Published in 2018

By

Centre for Social Justice (CSJ)

No.17, Yaounde Street, Wuse Zone 6, P.O. Box 11418, Garki Abuja Tel: 08055070909, 08127235995

Website: www.csj-ng.org
Email: censoj@gmail.com

Twitter: @censoj
Facebook: Centre for Social Justice, Nigeria
Blog: csj-blog.org

Copyright @ CSJ

CSJ asserts the copyright to this publication, but nevertheless permits photocopying or reproduction of extracts, provided due acknowledgement is given and a copy of the publication carrying the extracts is sent to the above address.

Centre for Social Justice (CSJ)

TABLE OF CONTENTS

Chapter One: Introduction	1
1.1 Background	1
1.2 Focus	3
1.3 Goal and Objectives	3
1.4 Rationale	4
1.5 Context of the Election	5
1.6 Methodology	6
1.7 Challenges and Limitations of the Monitoring Exercise	7
1.8 Presentation of Report	8
Chapter Two: The Legal Framework	9
2.1 Key Provisions Related to Candidates	9
2.2 INEC Guidelines on Candidate's Finance	12
2.3 Reform of Campaign Finance Laws	13
Chapter Three: Abuse of State Administrative Resources	14
3.1 Introduction	14
3.2 Abuse of Security Resources: Blocking of Government House Gate	
and Reported Physical Assault on Governor Ayodele Fayose	14
3.3 Abuse of Official Vehicles	16
3.4 Students' Involvement in Rallies	16
3.5. Civil Servants were Made to Play Partisan Politics	17
3.6. During the Campaigns: Ekiti Government Promotes Civil Servant	
in the State	
3.8. Use of Ekiti State Government Properties at the PDP Mega Rally	
3.9 Summary of Expenses in the Chapter	
or carrinary of Exponeds in the oriaptor	10
Chapter Four: Campaigns, Rallies and Other Expenditure	20
4.1 In this Chapter	20
4.2 All Progressives Congress	20

4.3 Peoples Democratic Party	41
4.4 Social Democratic Party	
4.5 Action Democratic Party	59
4.6 Summary Of Expenses	62
Chapter Five: Billboard Expenditure	63
5.1 Introduction	63
5.2 All Progressives Congress	63
5.3 Peoples Democratic Party	68
5.4 Social Democratic Party	74
5.5 Action Democratic Party	75
5.6 Summary of Expenses	76
Chapter Six: Electronic and Print Media Expenses	77
6.1 Introduction	77
6.2 Live Electronic Media Coverage of Campaigns	77
6.3 Electronic Media Adverts on Radio and Television	78
6.4 Print Media Expenses	80
6.5 Summary of Expenses	80
Chapter Seven: Vote Buying	82
7.1 Introduction	82
7.2 Details of Vote Buying	82
Chapter Eight: Conclusion and Recommendations	86
8.1 Overall Spending	86
8.2 Conclusions	86
8.3 Recommendations	87
8.3.1 To the National Assembly	87
8.3.2 To INEC	89
8.3.3 To Political Parties	90
8.3.4 To Civil Society	90
List of Monitors and the Local Government Areas Monitored	91

ACRONYMS

AD Alliance for Democracy

ADP Action Democratic Party

AIT Africa Independent Television

APC All Progressives Congress

CAP Chapter

CSJ Centre for Social Justice

CSOs Civil Society Organizations

DJ Disc Jockey

EGS Electricity Generating Set

FIRS Federal Inland Revenue Services

IFES International Foundation for Electoral System

INEC Independent National Electoral Commission

KOCO Kolapo Olusola Campaign Organisation

LGA Local Government Area

N Naira

NBC National Broadcasting Commission

NTA Nigeria Television Authority

NWLR Nigeria Weekly Law Reports

OMM Osoko Mass Movement

PAS Public Address System

PDP People's Democratic Party

PVC Permanent Voters Card

QTY Quantity

S. Section

SAR State Administrative Resources

SDP Social Democratic Party

SSS State Security Service

TV Television

TVC Television Continental

V Versus

ACKNOWLEDGEMENT

Centre for Social Justice (CSJ) acknowledges the support of OSIWA towards the research and publication of this Report. We are also grateful to the monitors who participated in the monitoring exercise. Our appreciation goes to the staff of CSJ who did the cross checking, proof reading and monitoring from the secretariat.

Chapter One

INTRODUCTION

1.1 Background

Various laws and subsidiary legislation make provisions for the regulation of political and campaign finance and the use of state administrative resources (SAR) in Nigeria. They include the Constitution of the Federal Republic of Nigeria 1999 (as amended)¹, the Electoral Act 2010 (as amended)², Companies and Allied Matters Act, and subsidiary instruments and regulations made by the Independent National Electoral Commission (INEC) under powers granted by S. 153 of the Electoral Act³. The provisions of the foregoing laws include ceilings on campaign expenditure for different categories of candidates and punishment for exceeding the ceiling, reporting and disclosure mechanisms for political parties and candidates expenditure and the general powers of INEC to ensure that political parties and candidates comply with campaign finance related statutory obligations.

It is imperative at the outset to distinguish the broad term of political finance from the narrower term of campaign finance. Political finance covers the entire life, processes and procedures of political parties and electioneering associated costs. It relates to monies spent for the formation, registration and running costs of political parties; monies for conventions, congresses, nomination of candidates, electioneering, etc. It includes the legal and illegal costs and administrative expenses of parties, expenses for elections, litigating relevant political cases, etc.⁴ Apparently, expenses to subvert the electoral process are cognizable as prohibited political finance; allegations of bribery of federal legislators during the Third Term saga⁵, if it were true, will come under the broad umbrella of political finance.

¹ Hereinafter called the Constitution - unless the context otherwise indicates.

² Hereinafter called the Electoral Act or Act unless the context otherwise refers.

³ Section 153 of the Electoral Act states: "The Commission may, subject to the provisions of this Act, issue regulations, guidelines, or manuals for the purpose of giving effect to the provisions of this Act and for its administration thereof". The subsidiary instruments include the Political Finance Reporting Manual and Handbook, 2015.

⁴ Michael Pinto-Duschinsky stated that political finance includes 13 different issues vis; election campaign funds, political party funds, grants to elected officials, political organisation funds, pressure and interest group funds, political lobbying funds, litigation funds in politically relevant cases, partisan mass media funds, corrupt political funds, unofficial payments to elected officials, unofficial payments to civil servants, unofficial payments to the media and payments intended to improve the electoral process.

⁵ The "Third Term saga" refers to the attempt by former President Obasanjo, through the legislature to amend the Constitution to extend the presidential constitutional tenure to three terms instead of the extant two terms.

On the other hand, campaign expenditure (a sub-part of political finance) has been articulated as follows by the Political Parties Finance Handbook⁶:

Campaign expenditure is defined as any expenditure incurred by a party for electoral purposes; that is solely for the purpose of enhancing the standing of or promoting electoral success for a party at a forthcoming or future election... Moreover goods or services for which payments are made prior to the campaign period, for use during the campaign period, shall be considered campaign expenditure and therefore must fall within the campaign expenditure limit. Campaign expenditure includes any expenditure incurred by a party in connection with the following items: Political party broadcasts, advertisement, distribution of unsolicited materials to the electorate, circulation of manifesto and other policy documents, market research and canvassing, media publicity, transportation and rallies and other events.

SAR include all state and public resources, put at the disposal of incumbents for public purposes including finances, government personnel, the media, administrative and legislative resources, security, coercive and regulatory resources, etc. The abuse of SAR will unduly favour incumbent candidates or candidates supported by incumbents and as such, there will be no level playing field for all contestants. Instances will include where public finances are diverted to fund campaigns through over-invoicing and third parties who participate in government commerce as contractors and suppliers; government media blackout out political opposition and only report them in disparaging terms. Security agencies could disrupt rallies and attempt to withdraw permits for public rallies and meetings while oppressive investigation and prosecution of opposition candidates could be deployed to ensure that they lose elections.

A plethora of reasons justify the regulation of campaign finance and SAR. They have been stated to include the need to uphold the supremacy of the constitution and enthrone democracy and development. Godfathers usually seek to control the apparatus of government through the backdoor as they are not elected officials, and with the frittering away of public resources in paying them back for their sponsorship, resources to take care of infrastructure and services like education and health are diverted. Other reasons include curtailing the improper influence of money over policy outcomes; promote popular participation in campaign financing and promote issue based politics. Further reasons are to curtail money laundering; prevent the subversion of the legal system; fight corruption to a standstill; affirm societal ethics and standards; putting gender on the agenda; ensuring openness, transparency and accountability as well as enabling voters to make a choice⁷. Corrupt money could be laundered through campaign financing which subverts and corrupts the political and legal system. The overwhelming influence of money in

⁶ INEC's Political Parties Finance Handbook, 2005, at page 28.

⁷ See Political Finance Monitoring Manual 2015 (CSJ).

electioneering does not allow voters to make a choice as it railroads the votes to the highest bidder.

Centre for Social Justice has led the path of civil society engagement with political and campaign finance and seeks to deepen the process through its engagement of Ekiti 2018 gubernatorial elections. The engagement builds capacity, monitors campaign expenditure and reports on the process.

1.2 Focus

This Report focused on the election and campaign expenditure of the four most active political parties and their candidates in the Ekiti gubernatorial election. Due to their financial strength and popularity, only four political parties, out of 35 registered political parties that contested the gubernatorial election took part in robust campaigns across the length and breadth of the state. These four active political parties were the People's Democratic Party (PDP) which fielded Prof. Olusola Eleka and the All Progressives Congress (APC) which fielded Dr. Kayode Fayemi. Social Democratic Party (SDP) fielded Akinloye Ayegbusi and Action Democratic Party (ADP) fielded Otunba Segun Adewale.

The Report is not generally about the election, but the cost of the election. Although monitors have come across electoral misconduct or violence, such facts were only relevant to the extent that it related to the cost of election. The issues covered include the cost of obtaining the nomination form, contesting primaries, holding campaigns and rallies, campaign offices, publicity and associated costs and fundraising by candidates and parties. It also focused on the use of SAR including legislative, administrative, coercive and regulatory and media resources. All these are resources available to state authorities for effective governance. However, they can be used by incumbent administrations for partisan purposes.

1.3 Goal and Objectives

The central goal is to contribute to credible Ekiti State gubernatorial election in 2018 through a stakeholder engagement of INEC, political parties and candidates and the establishment of civil society oversight on campaign finance and use of SAR. The specific objectives were to:

- Build the capacity of stakeholders to engage campaign finance and the use of SAR;
- Monitor and report on campaign finance and the use of SAR in the election and use the results for advocacy for enhanced enforcement of the law;
- Sensitise and raise public awareness on campaign finance and use of SAR.

1.4 Rationale

Laws and regulations are made in the expectation that persons and institutions whose conduct the law intends to regulate will respect the law. Monitoring and reporting on campaign finance and the use of SAR will facilitate a determination of whether the aspirants and parties complied with the law. Thus, the first reason for the monitoring and reporting exercise is to determine the level of compliance with laws and regulations by candidates and political parties.

The second reason is to evaluate how realistic existing campaign finance laws are. Sometimes, laws are made that appear good on paper but are not realistic within a given society. The monitoring process and its results will reveal popular perceptions and attitude towards the law in terms of whether it is realistic and feasible to expect compliance with its provisions by persons and institutions whose conduct it is supposed to regulate. Popular respect for laws is sometimes tied to the effectiveness of the monitoring, enforcement and sanction mechanisms. If laws are made without effective enforcement and sanction mechanisms, they would be no more than moral adjurations. Monitoring and reporting will help reveal whether the law is realistic in this regard.

The third is to elevate transparency and accountability in political party campaign finance transactions. Monitoring and reporting will illuminate the dark spots of campaign finance and the use of SAR. Transparency and accountability in campaign financing will translate to enhanced accountability in governance since the specific interest groups and individuals funding the candidates and contending parties and generally, the use of money and other resources will be known to the public who would make a choice among the candidates. Knowledge of the process that produces a candidate will help the electorate in making a choice. Adequate disclosure and regulation of campaign finance is a necessary prerequisite for controlling political corruption. Transparency and accountability will prevent the secret build-up of illegal transactions, which will not meet the standards for public approval. Monitoring and reporting will increase public confidence in the political finance system.

The fourth reason is to provide information and data for evidence based advocacy for the reform of political party and campaign finance laws and regulations. Monitoring and reporting will provide evidence of the provisions of the law and regulations that attracted compliance and those that the candidates and parties breached; the reasons for compliance and non-compliance, etc. It will identify the gaps, challenges and problems associated with the implementation of the law and regulations. The whole essence of monitoring is to collect evidence, not hearsay or anecdotal evidence. If circumstantial evidence must be used, it must be compelling and pointing in the direction of a single reasonable conclusion. The report of the monitoring will provide supporting data and evidence for the reform of laws and regulations and associated policy and implementation frameworks.

The fifth is to determine the legality and appropriateness of the use of SAR in elections. SAR are not to be used to the advantage or disadvantage of any political party or candidate at an election. Monitoring and reporting will provide the framework to determine whether there has been compliance with the laws in this regard.

1.5 Context of the Election

The governorship of Ekiti State has been alternating between the PDP and the forerunners of APC - the Alliance for Democracy (AD) and the Action Congress of Nigeria. In the period 1999 to 2003, Otunba Niyi Adebayo of the Alliance for Democracy (AD) was the governor, AD being one of the forerunners of APC. Between 2003 and 2007, the PDP occupied the seat through Ayo Fayose who was later impeached although the party continued till the end of the four years. Between 2007 to October 15, 2010, the PDP through Segun Oni was in power. Thereafter, the Court of Appeal declared Kayode Fayemi the winner of the 2007 gubernatorial election. He was sworn in on October 15 2010 for four year tenure. He contested for the second term ticket with Ayo Fayose of the PDP who defeated him in the 2014 gubernatorial election. Ayo Fayose, the outgoing governor supported his deputy governor, Professor Olusola Eleka who was nominated as the gubernatorial candidate of the PDP.

The APC governorship candidate, Kayode Fayemi having lost the seat to the incumbent Ayo Fayose in October 2014 had a point to prove, that he is still popular in the state and the votes in 2014 were a mistake. Considering that the PDP lost federal power to the APC in 2015, this is the first major election to test the strength and popularity of the APC and PDP as a prelude to the 2019 elections. In the process of losing federal power, the PDP not only lost its majority in the National Assembly but also lost its control over majority of state governments. The APC now controls more states and has more governors across the Federation. While the PDP is working to regain its primacy, the APC hopes to continue its dominance.

The ADP and SDP were also popular in the state. The ADP has a candidate, Otunba Segun Adewale alias Osaprapra flying its flag. He is reputed to have immense wealth and ready to spend same. The SDP is a mix of the old stock of the Yoruba cultural group Afenifere and its candidate, Akinloye Ayegbusi is a business man and a new entrant into politics.

During the primaries of APC and PDP, large sums of money ranging from N150, 000 to N250, 000 per delegate were reported by eye witnesses to have been paid to the delegates as the highest bidders picked up the gubernatorial tickets. This was even

acknowledged by Engineer Segun Oni, an APC aspirant who came second in the APC primaries:

"Money played a prominent role in the election and virtually every aspirant was guilty of it. But, let me say, our party won't tread this path again, because a situation whereby few people are allowed to elect a candidate and see it as an opportunity to maximize their profit is dangerous."

"The former governor suggested Option A4 in electing the party's candidate, describing it as being more representative and inclusive than the delegates system".

APC and PDP had a lot of resources at their disposal to finance the election. Whilst the PDP candidate had access to Ekiti State resources, the opposing APC had federal might, considering that its candidate just resigned as Minister of Solid Minerals. The two parties also had party stalwarts who served in various capacities at the federal and state levels and a lot of resources at their disposal. At the national level, the APC appointed a 77 member team including serving governors and key ministers whose mandate was to ensure victory for the party in the July 14 election. It was in every respect a clash of titans.

1.6 Methodology

The monitoring and reporting exercise identified 16 volunteers that monitored the 16 local government areas of the state. The monitors and their coordinator were trained at a capacity building workshop and were provided with relevant documentation that would enable them carry out the monitoring assignment. The documents include the Electoral Act 2010 (as amended), INEC Guidelines on Political Parties 2013, the 1999 Constitution (as amended), the Political Finance Monitoring Manual 2014 and other relevant literature. The monitors were trained on the legal regime and practical aspects of monitoring campaign finance and the use of SAR.

Some of the monitors were also privileged to have engaged in CSJ's previous campaign finance monitoring exercise and as such, had practical field monitoring experience. Monitors were thereafter deployed – one monitor per local government area. They were charged inter alia to attend rallies of the four leading political parties, visit party secretariats of the political parties and candidate's campaign offices to obtain information on campaign expenditure. Monitors provided information on costs observed during field rallies such as cost for mobilization of participants to the venue, setting up the podium and stage, musical instruments, entertainment, performances, costume, sharing of food, drinks and money, etc. They sought and obtained information on office rents, cost of

⁸ Fountain News Breaker, Edition 3, Volume 6, 18th may-18th June 2018 at page 7.

⁹ Supra.

utilities, administration, bill boards and their location, etc. The monitors provided cost information on banners, posters, handbills and souvenirs. Letters were written to the electronic media to obtain information on the number and cost of advertisements placed in their medium.

For the print media, the secretariat purchased national and local newspapers to get details of advertisements of the political parties. The cost of these advertisements and its discounted rate were made available to us by the media houses and media practitioners. There were other forms of expenses which were channeled through third parties; such as money given to local government and ward coordinators to mobilize participants in their area, money given to youths through the football clubs, etc.

Monitors were charged with providing evidence only when it is credible, verifiable, relevant and reliable. As a result of the political environment, monitors were charged to adopt discretion in obtaining information from party members. However, official letters were written to the political parties and candidates campaign organisations to disclose information on their expenses.

Prices of various items were obtained from three credible vendors to ensure that the price stated in the report is reasonable and within the range of what is obtainable in the market. Also, some of the service providers were willing to provide information on the cost of their services. At the secretariat, the programme officer liaised with the state coordinator to verify the information supplied.

1.7 Challenges and Limitations of the Monitoring Exercise

The farmer-herdsmen crisis made it difficult for monitors to cover some local governments like Emure LGA, which was prone to herdsmen attacks. Getting information from candidates, their campaign organizations and political parties was difficult as they treated the monitors as meddlesome interlopers. Letters were written to the four major political parties and candidates' campaign organizations for information on their expenses but they failed, refused and neglected to provide the required information.

There was also the challenge of being able to trace the source of funds, especially when they came from third party sources. A number of third parties took part in the sponsorship of some of the political activities of the parties and their candidates. Different solidarity groups undertook one form of activity or the other on behalf of their party and candidate. But it was not easy to determine if the money was sourced from the individuals backing the group or whether it was sourced from the party or its candidate. Also, it was difficult getting information on the amount spent by candidates in hotels, for hospitality and other forms of logistics. Some of the details of these expenses could only be provided by the campaign coordinators. Monitors also experienced the challenge of gaining access into event centers as a result of high security presence. Invitation to events organized by the

political parties like fund raisers were only extended to a targeted audience thereby making it difficult for monitors to figure out the exact details of the event. Also, during the visit to campaign grounds, monitors had to secretly take pictures and could not overtly present themselves as campaign finance monitors. The monitors however mixed up with the crowd and conducted their monitoring activities discretely.

Also, as a result of the size of some local governments, it was not easy for the monitors to cover the entire landmass in the local government to count the bill boards. They were only restricted to counting the billboards located in major cities and towns in the local government. The report was unable to capture facts peculiarly within the knowledge of the candidates and the parties which they were not willing to disclose. These facts include money or gifts given to traditional rulers during visits, money officially released to the ward coordinators for campaigns, money spent on items such as rice, salt, and other materials shared across the wards in the state. There were a number of youth groups and celebrities that identified and showed solidarity with the candidates. However, we were not able to get full details on how much was given to each of the groups and celebrities.

1.8 Presentation of Report

The report is presented in eight chapters. Chapter 1 deals with the introduction. This Chapter highlighted the essence of the project, focus, goal and objectives, rationale, context, methodology, challenges and limitations, etc. Chapter 2 examines the legal framework which forms the basis of the monitoring exercise. Chapter 3 discussed the abuse of SAR during the period of the campaign. Chapter 4 discussed rallies across the state and other expenses while Chapter 5 is on the billboards. Chapter 6 is on electronic and print media campaigns. Chapter 7 is on vote buying. The final Chapter 8 deals with conclusions and recommendations.

Chapter Two

THE LEGAL FRAMEWORK

2.1 Key Provisions Related to Candidates

The Electoral Act 2010 (as amended) in sections 88 - 92 made provisions for the regulation of the finances and expenditure of political parties and also places a reporting obligation on them in section 93. The Act also in section 100 $(2)^{10}$ seeks to control the use of SARs by incumbents against the opposition. Although Nigeria's campaign finance and SAR law is of good quality, it needs some fine-tuning to ensure that the law is enforced and respected.

The following are the key provisions limiting the expenditure of candidates in elections.

- 91. (1) Election expenses shall not exceed the sum stipulated in subsection (2) (7) of this section.
- (2) The maximum election expenses to be incurred by a candidate at a Presidential election shall be one billion naira (N1,000,000,000).
- (3) The maximum election expenses to be incurred by a candidate at a Governorship election shall be two hundred million naira (N200,000,000).
- (4) The maximum amount of election expenses to be incurred in respect of Senatorial seat by a candidate at an election to the National Assembly shall be forty million naira (N40,000,000) while the seat for House of Representatives shall be twenty million naira (N20,000,000)
- (5) In the case of State Assembly election, the maximum amount of election expenses to be incurred shall be ten million naira (N10,000,000).
- (6) In the case of a chairmanship election to an Area Council, the maximum amount of election expenses to be incurred shall be ten million naira (N10,000,000).
- (7) In the case of councillorship election to an Area Council, the maximum amount of election expenses to be incurred shall be one million naira (N1,000, 000).
- (8) In determining the total expenditure incurred in relation to the candidature of any person at any election, no account shall be taken of:-
 - (a) any deposit made by the candidate on his/her nomination in compliance with the law;
 - (b) any expenditure incurred before the notification of the date fixed for the election with respect to services rendered or material supplied before such notification.
 - (c) Political party expenses in respect of the candidate standing for a particular election.
- (9) No individual or other entity shall donate more than one million naira (N1, 000,000) to any candidate.
- S. 91 of the Electoral Act continues and provides for punishment for spending above the ceiling:

¹⁰ 2010 Electoral Act

- (10) A candidate who knowingly acts in contravention of this section commits an offence and on conviction is liable-
- (a) in case of presidential election to a maximum fine of N1,000,000.00 or imprisonment of 12 months or both;
- (b) in the case of a governorship election to a fine of N800,000.00 or imprisonment for 9 months or both:
- (c) in case of senatorial seat in the National Assembly election to a fine of N600,000.00 or imprisonment for 6 months or both;
- (d) in the case of House of Representative seat in the National Assembly election to a fine of N500,000.00 or imprisonment for 5 months or both;
- (e) in the case of a State House of Assembly election to a fine of N300,000.00 or 3 months imprisonment or both;
- (f) in the case of Chairmanship election to a fine of N300,000.00 or 3 months imprisonment or both; and
- (g) in the case of Councillorship election to a fine of N100,000.00 or 1 month imprisonment or both.
- (11) Any individual who knowingly acts in contravention of subsection (9) shall on conviction be liable to a maximum fine of N500,000.00 or 9 months imprisonment or both.
- (12) Any Accountant who falsifies or conspires or aids a candidate to forge or falsify a document relating to his expenditure at an election or receipt or donation for the election or in any way aids and abets the breach of the provision of this section of this Act commits an offence and on conviction is liable to 10 years imprisonment.

The major challenge of Nigeria's campaign finance regime is about implementation and adherence to the provisions of the Act by candidates and political parties. Also, the enforcement mechanism by INEC and security agencies is weak. No one has been investigated or prosecuted for spending above the ceiling. This leads to a culture of impunity in the abuse of campaign finance laws and regulations. However, there are some challenges in the Electoral Act regarding campaign finance which the legislature, INEC and the political parties need to address. They include the following issues detailed hereunder.

A. Provide a Basis for the Ceilings: The Electoral Act provides an expenditure ceiling for all categories of elective positions. However, what is lacking in this provision is the basis of the ceiling. Is the ceiling justified by either the number of voters to be reached per constituency or the land area to be covered? Did it consider the size of the state, constituencies or geopolitical zones? This consideration, alongside specific expenditure heads incurred during campaigns such as media, mobilisation and other logistics should

form the basis for a ceiling. A governorship candidate spends N200 million whilst a presidential candidate, covering 36 states of the federation, is allowed to spend only N1 billion – just the ceiling for five gubernatorial campaigns.

There is need for expenditure ceilings in Nigerian electioneering. However, there must be a basis for the determination of the reasonableness of the ceilings. The limitation could be based on the number of registered voters in a constituency multiplied by a factor and from time to time adjusted for inflation based on the national consumer price index. For gubernatorial election, this ceiling will differ from state to state based on population, number of registered voters, land mass, etc.

Further, should the ceilings be provided in the body of the Act? This makes it difficult to review following changes in the macroeconomic fundamentals, because it will entail an amendment to the Act. It would have been proper if the power to determine and review the limits were left to INEC based on consultations with stakeholders and prevalent macroeconomic indicators.

- **B. Individual Donations**: While the Act restricts individual donations to candidates to not more than N1 million, it was silent on whether that limitation also applies to political parties. An individual, who understands the provisions of the Act, can channel his donation in excess of N1 million to the political party since there is no law limiting contributions to the political party. The law in this case has to be strengthened to clearly differentiate how much can be contributed to a political party and to a candidate. Experience has also shown that individuals violate this law by donating on behalf of other persons. There should be a mechanism to check whether a purported donor has the means and capacity to make a donation purportedly made in his name. The tax status of the purported donor can facilitate a determination of his capacity to donate.
- **C. Tax Status of Contributions**: Contributions to candidates and political parties up to a certain limit have not been made tax deductible. This is one of the ways to encourage popular participation in campaign finance and reduce the influence of money bags and god fathers in politics. Also, there should be a tax trail in campaign finance donations. For an individual to be adjudged capable of making a million naira donation to a candidate, such individual should be able to prove that he is a worthy donor by showing proof of the requisite previous year's tax payment. This would help to deter multiple announcement of one million naira donation on behalf of ghost donors.
- **D. Provision for Bank and Paper Trails**: Apart from the donations recorded at public events organized by candidates and political parties, many individuals give money to candidates and parties secretly and these are the big donors who seek a pound of flesh after the candidate they supported wins the election. There is no law that stops a anyone from walking into a candidate's house at night with a bag of money, purportedly to support his election. However, INEC can cue into the CBN cashless policy to mandate political

parties and candidates to leave paper and banking trails in all their transactions. This can be achieved by regulations making it mandatory that all receipts and expenses must pass through a designated bank account declared by the candidate or party to INEC. Collaboration between INEC, CBN and the Financial Intelligence Agency in this regard would ensure the transparency of the transactions so that INEC would have adequate information on all campaign finance related expenses. Any transaction outside the bank accounts would clearly be illegal and attract the requisite sanctions.

2.2 INEC Guidelines on Candidate's Finance

The Electoral Act 2010 (as amended) despite providing expenditure ceilings for candidates did not mandate them to report to INEC on their expenditure. However, INEC has taken steps to provide reporting obligations for candidates. Relying on S.153 of the Act¹¹, INEC has made provisions in the Guidelines and Regulations for Political Parties 2013. The Guidelines state as follows.

- a. Candidates, Campaign Office, Fundraising by Candidates and Disclosure
- S. 11. All candidates shall:
- a) Submit detailed address of their campaign offices to the Commission within 7 days from the date of publication of the notice of election.
- (b) Notify the Commission of all events or meetings for the purpose of raising funds towards their campaign at least 7 days before such events or meeting.
- b. Disclosure
- 12. All candidates shall disclose to the Commission records of all contributions and other sources of funds for their campaign, as well as records of expenditure in a prescribed format issued by the Commission.
- c. Books of Accounts
- 13. Every candidate shall:
- (a) Maintain a record of all contributions as well as any other source(s) of funds. The records shall include the names, addresses, occupation of the donor(s) and amount donated.
- (b) Maintain proper books of account and records of all expenses incurred during campaign.
- d. Anonymous Contribution(s)

-

¹¹ Section 153 of the Act states that: The Commission may, subject to the provisions of this Act, issue regulations, guidelines, or manuals for the purpose of giving effect to the provisions of this Act and for its administration thereof.

- 14. No candidate shall accept or keep in his/her possession any money anonymously donated or other contributions, gifts or property from any source whatsoever.
- e. Audited Return
- 15. (1) All candidates shall:
- (a) Submit detailed audited returns of their campaign expenses to the Commission within six (6) months after an election.
- (b) Such returns shall indicate details of donations, other sources of funding, expenditure on goods, services and sundry expenses incurred for the purpose of election.
- (2). The audited return on campaign expenses shall be signed by the candidate and supported by an affidavit sworn by the candidate as to the correctness of its content.
- 16. The Commission shall examine the records and audited account, of candidates on their campaign expenses through any officer or body authorized by the Commission in writing.

The foregoing Guidelines provide a clear procedure for candidates to document and report on all contributions and expenses regarding the campaigns to the Commission.

Candidates are under obligation to notify INEC of their fundraising activities at least 7 days before the event; keep proper books of account detailing receipts and expenditure; decline anonymous contributions; audit the campaign expenses and submit the audited accounts to INEC accompanied by a verifying affidavit vouching its correctness on oath. Thus, any statements in the audited accounts which are incorrect introduce the legal dimension of lying on oath. However, there is still a flaw; there are no sanctions for failing to comply with the Guidelines. But it is a known fact that the average human being responds most to the threats of sanction or the promise of a reward. The trend of events after the 2015 elections shows that the Guideline was more observed in the breach and INEC appears not to have the resources to enforce the Guidelines.

2.3 Reform of Campaign Finance Laws

Recommendations and issues for the reform of campaign finance laws and regulations will be fully reviewed in the conclusions and recommendations in the final Chapter of this report. This will include broad questions on whether a new body is needed to monitor campaign finance and SAR or to strengthen INEC to perform this task in an empirical manner that guarantees that the law is worth more than the paper on which it is printed.

Chapter Three

ABUSE OF STATE ADMINISTRATIVE RESOURCES

3.1 Introduction

State Administrative Resources (SAR) are public resources placed at the disposal of the state for the public good. The resources include financial, administrative, legislative, coercive, investigative, prosecutorial, media, etc. They are available to governments to ensure good governance and societal welfare. But SAR can be abused and deployed to partisan purposes and this distorts the level playing ground needed to guarantee free and credible elections. If SAR should be used for campaigns, they should be available to every candidate and political party contesting the governorship position.

Section 100 (2) of the Electoral Act provides as follows:

"State apparatus including the media shall not be employed to the advantage or disadvantage of any political party or candidate at any election".

The above section recognises that resources which come under the definition of state apparatus is wide and includes the media. Subsequent parts of this Chapter details the use of SAR in the run up to the elections.

3.2 Abuse of Security Resources: Blocking of Government House Gate and Reported Physical Assault on Governor Ayodele Fayose

There were reports of abuse of security resources. On Wednesday, 11th July 2018, Government House Ekiti State was blocked by a mobile police team led by Commissioner of Police in charge of Mobile Police Force. The team barricaded the State House and prevented the governor and party supporters from attending the PDP Rally scheduled to hold on the same day. Media reports indicated that Governor Ayodele Fayose was manhandled by the security operatives when he tried to leave the State House to attend the rally. Deputy Inspector General of Police, Habila Joshak who spoke to the media insisted that PDP did not obtain police permission to hold the rally. However, the provisions of Nigerian law do not require a police permit before a rally can be held. The organisers of a rally may inform the Police if they need protection or to avoid the hijacking of their event by hoodlums.

The Police action runs contrary to S.12 of the Electoral (Amendment) Act of 2015. It provided as follows:

"Section 94 of the Principal Act is amended by inserting after subsection (3), new subsections (4) and (5)"

"(4) Notwithstanding any provision of the Police Act, the Public Order Act and any regulation made thereafter or any other law to the contrary, the role of the Nigeria Police

Force in political rallies, processions and meetings shall be limited to the provision of adequate security as provided in subsection (1) of this section".

"(5) For the avoidance of doubt, no registered political party in Nigeria, its aspirants or candidate shall be prevented from holding rallies, processions or meetings at any time for their constitutional political purposes, and the Police shall, in a consultative manner, resolve any conflict of time or venue between and amongst parties where such arises".

Rallies, processions and meetings are part of the expression of the fundamental rights to freedom of movement and association. As such, they can only be derogated from within the recognised constitutional restriction and derogation from fundamental rights enshrined in section 45 (1) of the Constitution; - under a law that is reasonably justifiable in a democratic society in the interest of defence, safety, public order, public morality or public health or for the purpose of protecting the rights and freedoms of others. Thus, in the case of *Inspector General of Police v All Nigeria Peoples Party*¹², the Court of Appeal reaffirming the decision of the High Court held:

"In the instant case, I have no difficulty in answering the question raised by the plaintiffs. I answer the first question in the negative, that is to say that no police permit or any authority is required for holding a rally or procession in any part of the Federal Republic of Nigeria. I answer the second question in the affirmative meaning that the provisions of the Public Order Act, Cap. 382, Laws of the Federation of Nigeria, 1990, which prohibit the holding of rallies or processions without police permit are unconstitutional having regard to section 40 of the 1999 Constitution and Article 11 of the African Chatter on Human and People's Rights (Ratification and Enforcement) Acts, Cap. 10, Laws of the Federation of Nigeria, 1990".



¹² (2007)18 NWLR (Pt.1066) 457 Court of Appeal

3.3 Abuse of Official Vehicles

On May 19th 2018, the PDP governorship candidate, Prof Olusola Eleka, the Speaker of Ekiti State House of Assembly, Pastor Kola Oluwawole, Honourable Commissioner for Information Lanre Ogunsuyi, Moba Local Government Chairman, Hon. Femi Ayeni and so many others used official vehicle for campaigns and to attend PDP rally at Otun Ekiti. There were other hilux pilot vehicles belonging to Ekiti State Government at the campaign venue.

Also, during the APC flag off rally in Ado Ekiti, Vice President Osibanjo came to Ekiti State via Ondo airport on a presidential jet. Likewise, during the APC mega rally held on 10th July, 2018, President Buhari came to the rally on the presidential jet with state house vehicles that accompanied him and other government officials to the campaign ground. The cost of hiring an equivalent aircraft is five million naira per day. For two days, this amounts to the sum of ten million naira spent on the presidential jet.

Eleven (11) official vehicles were sighted at the venue of the rally. The cost of hiring an SUV or Hilux bus is conservatively calculated at \$\mathbb{H}\$20, 000 a day per vehicle which totals N220, 000 (two hundred and twenty thousand naira)

3.4 Students' Involvement in Rallies

Some pupils and students of public primary and secondary schools were mobilised to the venue of the rallies held at various wards in Moba Local Government on June 19th, 2018. The PDP candidate donated 36 bags of rice and about two hundred dozens of writing materials to all the thirty six public primary schools visited in the local government. The materials which were purportedly donated by the candidate were bought from public resources and should not have been the subject of political campaigns.

Picture 2: The PDP candidate addressing pupils and students in Osun and Osan in Moba LGA





3.5. Civil Servants were made to play Partisan Politics

Civil servants were sighted at the rallies of the PDP candidate in groups. The groups include Osoko Mass Movement (OMM), Ekiti Teachers Vanguard and Positive Mind Group of Local Government Employees. When CSJ's monitors engaged the civil servants in a short interview, they all claimed that they were doing this for the security of their jobs. Picture 3 shows some of the groups and their banner.

Picture 3: Civil Servants on Partisan Business





3.6. During the Campaigns: Ekiti Government Promotes Civil Servant in the State.

During the campaign period, Ekiti State Government, with the intention of swaying votes for the PDP candidate approved promotion of all eligible civil servants in the state. The civil servants rejoiced over their long due promotion and promised to appreciate the government by supporting the continuity agenda of the governor and vote for his candidate during the election. Although, there is nothing wrong in promoting civil servants legally due for promotion; but everything is wrong about using the promotion as a political tool for campaigns.

3.7. NBC Sanctions Ekiti Broadcasting Service

The National Broadcasting Commission (NBC), on Wednesday 11th July, 2018 imposed N500,000 fine on Ekiti State Broadcasting Service for violating the ethical standards of the broadcasting code in the country. The Director-General of NBC, Ishaq Kawu, made this known at a news conference in Abuja. Mr. Kawu said that broadcaster had an obligation to ensure that they did not disrupt the good order of the Federal Republic of Nigeria and the nation's democracy.

According to him, Ekiti State Broadcasting Service has been unprofessional in its activities, particularly in the past two weeks and NBC cannot but take action. The D-G said the station had not been meeting ethical standards of broadcasting in airing political activities in the state. He stated that the appointment of the Acting Director-General of Ekiti Broadcasting Service, Lere Olayinka, as the spokesperson of Kolapo Olusola Campaign Organisation (KOCO), was not in conformity with the ethical standards of broadcasting.

"For the avoidance of doubt, section 5.2 and 18 of the Nigeria Broadcasting Code states that while a broadcaster/producer may interact with politicians in the course of his professional duties; this shall not be such as to lead to the belief that he is either a member or sympathizer of any political party".

Mr. Kawu said the NBC had written to the station and drawn its attention to the violation of the Code, but that words of caution were ignored. When President Muhammadu Buhari went to Ekiti State, Governor Ayodele Fayose actually did a broadcast telling the people not to receive the President.

3.8. Use of Ekiti State Government Properties at the PDP Mega Rally

About 1000 chairs were brought from Government House to the venue of the PDP Mega Rally. To hire the type of chair brought from Government House will cost N100 per chair and the total sum of N100, 000 should have been incurred on the chairs. Also, government vehicles were used at the campaign ground which includes eight SUVs, and ten Hilux at the cost of N20,000 per day, totaling N360,000, four buses at the cost of N30,000 per day totaling 120,000.

Picture 4: Chairs from Ekiti State Government House at PDP Mega Rally on 5th July, 2018





Picture 5: Government Vehicles at PDP Mega Rally in Ado Ekiti on 5th July, 2018





Picture 6: Government Buses at PDP Mega rally in Ado Ekiti on 5th July, 2018





3.9 Summary of Expenses in the Chapter

ADP	-
APC	10,220,000
SDP	-
PDP	1,300,000

Chapter Four

CAMPAIGNS, RALLIES AND OTHER EXPENDITURE

4.1 In this Chapter

This Chapter documents the observable expenditure on campaigns and rallies organised by the candidates of APC, ADP, PDP and SDP for the gubernatorial election. The costs documented include venues, stage and podiums, public address system, decorations, hire of vehicles, entertainment, costumes, chairs, tables, party symbols, etc. However, the report was not able to capture facts peculiarly within the knowledge of candidates and the political parties and other expenses which they were unwilling to disclose. Such expenses include monies given to party chieftains and traditional rulers, allowances paid to campaign officials, etc.

4.2 All Progressives Congress

A. CAMPAIGN HELD AT AJILOSUN IKERE ROAD, ADO EKITI ON FRIDAY JUNE 1, 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
Venue	Ajilosun, Opposite APC Party	1	0	0
	Secretariat Ado-Ekiti			
Platform and	Open roof SUV	1	20,000	20,000
Decoration				
Music system/	Local music band hired to provide	1	300,000	300,000
Electricity	music			
Generating Set				
(EGS)				
Banners	6/4 banners of the APC Aspirant John	20	7,500	150,000
	Kayode Fayemi were displayed			
Posters	More than 3500 posters pasted and	3500	20	70, 000
	distributed			
Costumes	20 APC loyalists wore special	20	10,000	200,000
	traditional attires for the rally			
Branded T-shirts	100 people wore branded APC T-	100	1500	150,000
and Face Cap	Shirts and Face Caps			
Subtotal				890,000

B. FLAG OFF RALLY IN ADO EKITI IN EKITI STATE HELD AT OLUKOYEDE STADIUM ON 19^{TH} JUNE 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST (N)	
Venue	Oluyemi Kayode Stadium	1	2,000,000	2,000,000

Public Address	DJ came with music system,	2	2,000,000	2,000,000
System (PAS),	speakers, etc. and Adewale			
musicians and EGS	Ayuba performed at the rally.			
Broom	1000 APC members held	1,000	100	100,000
	brooms, the symbol of the			
	party.			
Platform and	VIP stand was decorated	5	100,000	500,000
decoration	and mobile toilets were hired			
Branded vehicles	15 branded buses with APC	15	80,000	1,200,000
	candidate's picture			
	16 branded sienna with			
	APC candidate's picture	16	70,000	1,120,000
			·	, ,
	20 cars branded with APC			
	candidate's picture	20	60,000	1,200,000
Banners	Two 60/10 banner mounted	2	250,000	500,000
	at the Stadium			
Chairs and canopies	300 executive chairs were	300	500	150,000
	hired for VIPs			
	450 11 450 1 1 1 7	450	4.500	225 222
Special dressing	150 blue APC branded T-	150	1,500	225,000
participants	Shirts and Face Cap	200	1 000	200 000
	200 yellow T-Shirts with the picture of APC candidate	200	1,000	200,000
	100 branded black T-Shirt	100	1,000	100,000
	60 branded green T-Shirt	60	1,000	60,000
	50 red branded T-Shirt	50	1,000	50,000
	100 white branded T-Shirt,	100	1,000	100,000
	100 men and women wore	100	2000	200,000
	APC branded wrapper	100	2000	200,000
	100 APC dignitaries wore			
	branded Babariga	100	2,500	250,000
		= =	, = = =	,
Hired buses	300 buses	300	14,000	4,200,000
Party flags	150 APC small flags	150	200	30,000
Food, drinks, etc.	Bottled water was shared to	500	100	50,000
	500 persons			
Subtotal				16,235,000

C. RALLY HELD AT ST AUGUSTINE PLAYING FIELD OYE-EKITI ON THE 25TH OF JUNE 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Platform and	Decorated wooden platforms	3	25,000	75,000
decoration	were used			
Music system and EGS	DJ services and music set	1	200,000	200,000
Venue	St Augustine Playing field	1	200,000	200,000
Party symbol	Party leaders, aspirants and supporters flagged brooms	4,000	100	400,000
Hand bills	Small size hand bills were distributed	4,000	100	400,000
Party flag	Small size party flags were	300	150	45,000
	used by party leaders and supporters.			
Canopies and chairs	10 large size canopies;	10 large	7,000	70,000
Criairs	30 dozens of plastic tables and chairs were used	canopies; 30 dozens of plastic tables and chairs	·	60,000
Costumes	Some party leaders and	100 wore	Ankara	150,000
	supporters wore customized dress made of Ankara material	Ankara customized	dress- 1,500	225,000
	and some wore T-Shirts with	dress.	T-Shirt	225,000
	face caps	150 wore T-		
	13.33	Shirt and face	1,500	
		caps		
Subtotal				1,825,000

D. SOLIDARITY WALK HELD IN OKESA/OKEIYINMI ADO EKITI ON JUNE 2, 2018 TOWARDS THE SELECTION OF THE DEPUTY GOVERNOR

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
Platform	A wooden elevation specially	1	20,000	20,000
	constructed for the purpose of			
	campaign			
Venue	Okeyinmi Ado Ekiti Opposite the	1	0	0
	House of the APC Deputy Governor			
PAS	Megaphones for public communication	5	5,000	25,000
Branded clothes	Banner made of cloth material	6	2,500	15,000
	(Medium)			
Banners	Placard (Small size)	10	1,000	10,000

Posters	Posters of the APC aspirant were	50	450	22,500
	displayed			
Branded T-Shirts	Party loyalists put on the branded APC	8	2,000	16,000
	shirt with the candidate's picture			
Vehicles	1 bus (akoto) was hired	1	10,000	10,000
Brooms	About 400 Party faithful and	400	100	40,000
	supporters held brooms			
Subtotal				158,500

E. LOCAL GOVERNMENT RALLY IN EKITI EAST LOCAL GOVERNMENT HELD ON 27/06/2018.

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
PAS and EGS	DJ was hired to perform with big	1	170,000	170,000
	speakers and generating set			
Handbills	About 2000 handbills were distributed	2,000	50	100,000
Banners	10 medium size banners and	10	8,000	80,000
	4 large banners	4	12,000	48,000
Branded vehicles	4 Toyota Previa were branded with	4	80,000	320,000
	the picture of their candidate and his			
	deputy			
Brooms	About 100 party faithful came with	100	100	10,000
	brooms			
Special dressing	100 women wore Bamisele Femi-	100	1,800	180,000
	made Ankara			
	300 youths wore the candidate's T-	300	1,000	300,000
	Shirt			
Vehicles	30 cars were used to convey people	30	10,000	300,000
Subtotal			_	1,508,000

F. RALLY OF CONSTITUENCY TWO OF EKITI EAST LOCAL GOVERNMENT, HELD ON 11TH OF JUNE, 2018 AT KOTA, ARAROMI UGBESI, ILASA AND OMUOOKE

•				
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	
Venue	Opposite Methodist playground, Kota-	1	10,000	10,000
	Ekiti			
Canopy	4 canopies were erected	4	5,000	20,000
PAS	DJ was hired to provide music with big	1	40,000	40,000
	speakers and generating set			
Brooms	About 100 party faithful held brooms	100	100	10,000
Chairs and tables	150 chairs were hired for members and	150	50	7,500
	5 tables were placed in front of the	5	300	1,500
	dignitaries at the event			

Costumes	120 youths wore branded T-Shirt and	120	1,500	180,000
	Сар			
Sharing of money	Party faithful were given 10,000 per	2	10,000	20,000
	Ward - Wards 4&5			
Subtotal				289,000

G. APC GOVERNORSHIP CAMPAIGN RALLY HELD AT ILAWE-EKITI IN EKITI SOUTHWEST ON THE 16TH OF JUNE 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
Venue	Ilawe-Ekiti	1	0	0
Platform	Decorated wooden platform	1	50,000	50,000
PAS and EGS	A DJ, 4 big speakers and generating set	1	100,000	100,000
Canopy	4 canopies were used	4	5,000	20,000
Brooms	100 party faithful held brooms	100	100	10,000
Chairs and	150 chairs were hired for members and	150	50	7,500
tables	5 tables were placed in front of the			
	dignitaries at the event	5	300	1,500
Branded	2 branded space buses were used	2	80,000	160,000
vehicles	during the campaign			
Performances	One cultural troop and Boy's Brigade	2	40,000	80,000
by artistes				
Special	Cross section of party members wore	100	2000	200,000
dressing by	customized top cloth of Dr. Kayode			
participants	Fayemi with a Face Cap			
Subtotal				629,000

H. APC CAMPAIGN RALLY AT ARAMOKO IN EKITI WEST LGA ON 18TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	UNIT COST	QTY	TOTAL
Venue	Aramoko Motor Park (100)	20,000	1	20,000
Podium	Mobile podium 3m X 3m	150, 000	1	150,000
PAS and EGS	Live band hired to provide music	100, 000	1	100,000
Banner	Digital banner	40, 000	3	120,000
Bill Board	2 big board	20, 000	2	40,000
Canopies	2 Big Canopies	5, 000	2	10,000
Canopies	3 Small Canopies	3, 000	3	9,000
Chairs	10 dozen of white plastic chairs	120	50	6,000
Costume	50 branded T – Shirt	50	1000	50,000

Security		Mobile Police	5, 000	40	200,000
		Regular Police	5, 000	15	75,000
		Civil Defence	5, 000	30	150,000
		DSS	5, 000	10	50,000
		Road Safety	5, 000	5	25,000
Fueling Vehicles	of	Money was given to fuel 15 vehicles provided by party supporters to convey participants	3000	15	45,000
Subtotal					1,050,000

I. CAMPAIGN HELD AT ERINJINYAN EKITI WEST LOCAL GOVERNMENT, EKITI STATE ON THE 16TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	TOTAL COST
Venue	Market Square, Erinjiyan Ekiti	1	0	0
Mobile platform	1 metal mobile platform 3mx3m	1	150,000	150,000
PAS	DJ was hired to provide music - big speaker and EGS	1	20,000	20,000
Banners	1 large banner	1	30,000	30,000
Posters	Wall poster	30	200	6000
Branded T-Shirt	25	25	1000	25,000
Canopies	Two small canopies	2	3,000	6,000
Chairs	3 dozens of chairs	36	50	1,800
	Mobile Police	40	5,000	200,000
Security	Regular Police	15	5,000	75,000
	Civil Defence	30	5,000	150,000
	DSS	10	5,000	50,000
	Road Safety	5	5,000	25,000
Pressmen	NTA (Per day)	4	25,000	100,000
Vehicle	Aspirant's entourage vehicles fueling	15	3,000	45,000
Subtotal				883,800

J. RALLY HELD AT OPEN GROUND IN FRONT OF ELEMURE PALACE IN EMURE LGA ON $21^{\rm ST}$ JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	TOTAL COST
Venue	Open Ground at the front of Elemure Palace	1	0	0

Mobile plat form	1 metal mobile platform 3mx3m	1	150,000	150,000
PAS and EGS	D.J was hired to provide music - big speaker and EGS	1	20,000	20,000
Banners	1 large banner	1	30,000	30,000
Posters	Wall poster	30	200	6000
Branded T-Shirt	300 people wore APC candidate branded T-Shirt	300	1000	300,000
Canopies	Two small canopies	2	3,000	6,000
Chairs	3 dozen of plastic chairs	36	50	1,800
Securities	Mobile Police	40	5,000	200,000
	Regular Police	15	5,000	75,000
	Civil Defence	30	5,000	150,000
	SSS	10	5,000	50,000
	Road Safety	5	5,000	25,000
Vehicle	5 buses were hired to convey participants to the rally ground	5	5,000	25,000
Sharing of money	One hundred thousand naira was given to each ward in the local government	10	100,000	1,000,000
Subtotal				2,038,800

K. CAMPAIGN AT GBONYIN LOCAL GOVERNMENT AREA: ODE, IRO-AYETEJU OKE, EGBE, IMESI, AGBADO, AISEGBA, ILUOMOBA, ILUPEJU IJANAND IJAN EKITI ON 13TH AND 16TH OF JUNE, 2018

			UNIT	
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	COST	TOTAL
Platforms	Wooden podium	9	30,000	270,000
T-shirts for participants	Customized T-Shirts	4000	1,000	4,000,000
Take home food and				
drinks	Food and drinks	10,800	200	2,160,000
PAS, DJ and Local				
Musicians	PAS, DJ and Local Musicians	2	62,500	135,000
Banners	Medium and small sized	90	3,500	315,000
Publicity on radio	Progress FM and Voice FM	8	25,000	200,000
Billboards	Billboard big size	5	30,000	150,000
Canopies and chairs	Canopy 500 capacity	18	10,000	180,000
,	Chairs	4,500	50	225,000
Security	Police	100	3,000	300,000

	Civil Defence	100	3,000	300,000
	DSS	25	3,000	75,000
	Road Safety	15	3,000	45,000
Press men/coverage	Reporters	2	60,000	120,000
Subtotal				8,475,000

L. MOBILIZATION OF SUPPORTERS IN GBONYIN LOCAL GOVERNMENT AREA TO ATTEND RALLY ON 10^{TH} JULY, 2018 AT ADO EKITI

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
APC campaign				
rally at Ado	Mobilization paid to participants	1000	2,000	2,000,000
	Payment of buses for supporters to rally			
Buses	ground	33	10,000	330,000
T-shirts and caps	Supporters got T-Shirts and Face Caps	600	1,500	900,000
Subtotal				3,230,000

M. RALLY HELD ON $3^{\rm RD}$ JULY 2018 AT OSI MOTOR PARK

	MITO CEET TIEED GIVE GOET ESTOYAL GOT MOTORY TAKE					
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL		
HEAD			COST	COST		
PAS and EGS	Music set, big speaker, generator set, etc.	1	85, 000	85,000		
Chairs and	300 Chairs	300	40	12,000		
canopies	3 Canopies	3	2,000	6,000		
Banners	2 Small banner	2	6,000	12,000		
Video coverage	2 video cameramen	2	15,000	30,000		
Special dressing	Men, Women and Youths Wore T – Shirts	1800	1,500	2,700,000		
by participants	& Face Caps					
Hired vehicles	22 vehicles were hired to transport	22	13,000	286,000		
	participants					
Sharing of money	800 each was shared by 1300 participants	1300	800	1,040,000		
Brooms	500 brooms being the party symbol held by	500	100	50,000		
	party members					
Subtotal		_		4,221,000		

N. RALLY HELD ON 4th JULY 2018 AT IDO/OSI

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
PAS	DJ was hired to provide music and EGS	1	20,000	20,000
Umbrella	20 party supporters with the broom, the symbol of the party	90	100	9,000
Platform	1 wooden platform without decoration	1	30,000	30,000
Banners	10 medium banners	10	7,500	75,000
	3 Small banner	3	6,000	18,000
Drinks	30 packs of bottled water	30	700	21,000
	60 bags of sachet water	60	130	7,800
Special dressing	1600 participants Wore T – Shirts & Face	1600	1,500	2,400,000
	Caps			
Chairs and	Hire of 500 chairs	500	40	20,000
canopies	Hire of 6 Canopies	6	2000	12,000
Hired vehicles	Hire of 38 vehicles to transport participants	38	13,000	494,000

Sharing c	f 400 Men, Youth, & Women shared N250	400	250	100,000
money	each			
Total				3,206,800

O. RALLY HELD AT IFELODUM/IREPODUN LOCAL GOVERNMENT AREA ON 14TH JUNE, 2018

DESCRIPTION	OUANTITY	LINIT COST	TOTAL
Iworoko Party Secretariat	QUANTITY	ONIT COST	TOTAL
Wooden podium	1	50,000	50,000
Music set, speakers and EGS	1	30,000	30,000
Party members wore T- Shirts and Face Caps while party leaders wore Ankara	200 T- Shirts and Face Caps	1500	300,000
·	100 Ankara with Face Caps	2000	200,000
Take away jollof rice & drinks for 1200 people	1200	600	720,000
100 people were given transport fare	100	1000	100,000
A luxury bus and 3 branded Toyota Hiace buses	4	70,000 for the Hiace buses and 190,000 for the luxury bus	400,000
Tables and chairs for sitting	250 plasticchairs &13 tables	N50 (Chairs) N150 (Tables)	14,450
9 canopies were hired	9	N6000	54,000
Announcements were made for 5 days about the rally	5 slots	N12,000	60,000
•		,	1,928,450
	Wooden podium Music set, speakers and EGS Party members wore T-Shirts and Face Caps while party leaders wore Ankara with Face Caps Take away jollof rice & drinks for 1200 people 100 people were given transport fare A luxury bus and 3 branded Toyota Hiace buses Tables and chairs for sitting 9 canopies were hired Announcements were	Iworoko Party Secretariat (Ward A) Wooden podium Music set, speakers and EGS Party members wore T-Shirts and Face Caps while party leaders wore Ankara with Face Caps Take away jollof rice & Caps Take away jollof rice & drinks for 1200 people 100 people were given transport fare A luxury bus and 3 branded Toyota Hiace buses Tables and chairs for sitting 9 canopies were hired Announcements were made for 5 days about the	Iworoko Party Secretariat (Ward A) Wooden podium 1 50,000 Music set, speakers and EGS Party members wore T-Shirts and Face Caps while party leaders wore Ankara with Face Caps Take away jollof rice & 1200 Ankara with Face Caps Take away jollof rice & 1200 600 Take away jollof rice & 1200 600 Take away jollof rice & 1200 600 Tansport fare A luxury bus and 3 branded Toyota Hiace buses Tables and chairs for sitting 13 tables Tables and chairs for sitting 9 canopies were hired Announcements were made for 5 days about the

P. RALLY HELD AT IKERE POST OFFICE OPPOSITE OLU-IKERE PALACE, IKERE L.G.A ON 26^{TH} JUNE 2018

EXPENDIT	URE			UNIT	
HEAD		DESCRIPTION	QUANTITY	COST	TOTAL
PAS and EG	SS	DJ, Music set, generator, speakers, etc.	1	35,000	35,000
Platform	and	Metal platform	1	200,000	200,000
decoration					
Chairs	and	1000 plastic chairs and 15 canopies	1,000 chairs	60	60,000
canopies			15 canopies	2000	30,000
Broom		300 brooms were used as the symbol of	300	100	30,000
		the party			
Banners	•	3 large banners	3	10,000	30,000
		10 medium size banners	10	8,000	80,000

Hand bills	2000 hand bills were shared at the venue	2000	20	40,000
Posters	500 posters were distributed	500	30	15,000
Special dressing	150 men and women wore APC branded	150	2000	300,000
by participants	Ankara			
Branded T-Shirt	2000 youths put on T-Shirt and Face-	2000	1500	3,000,000
	Cap branded with APC logo			
Artists	A local musician named confidence	1	60,000	60,000
	performed at the event			
Media coverage	Video-man covered the rally	2	20,000	40,000
Subtotal				3,920,000

Q. CAMPAIGN ACTIVITIES IN IKOLE LOCAL GOVERNMENT TILL 6TH JUNE 2018; OGUNLADE FRANCIS ITUNU RECONCILIATION MEETING AT AYEBODE WARD 9, LED BY WOLE AYENI ON SUNDAY 3RD JUNE, 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST (N)
			(N)	
Venue	Ground for the event	1	15,000	15,000.00
Chairs	200 plastic chairs were used	200	50	10,000
Tables	4 Tables were used at the event	4	200	800
Banners	6 medium sized banners	6	8,000	48,000
Posters	250 posters were distributed	250	200	50,000
Canopies	3 Canopies were used at the event	3	2,000	6,000
Food	Food for 200 persons	200	450	90,000
Soft Drinks	Soft drinks for 200 persons	200	100	20,000
Subtotal				239,800

R. TOUR AT OKE AYEDUN, IKOLE GOVT ON 2ND JULY 2018

TR. TOORTAL ORE TREBOTH, INOLE COTT ON END COLT 2010				
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD		, -	COST (N)	COST (N)
	LA Playing Ground			
Venue	Oke-Odun	1	5,000	5,000
	T-Shirt and Face Caps			
Dressing	worn by participants	20	1,500	30,000
	Wooden billboard			
Billboard	erected at the venue	1	100,000	100,000
Sharing of				
money	Money for the Ward	1	10,000	10,000
Subtotal				145,000

S. TOUR AT AYEBODE, IKOLE LOCAL GOVT 7TH JULY 2018

6: 1001(7(17(12505E, 11(0EE 2007(E 007(17)11(0E) 2010					
EXPENDITURE	DESCRIPTION	QUANTI	UNIT	TOTAL	
HEAD	DESCRIPTION	TY	COST (N)	COST (N)	
Venue	A field was used as the venue	1	5,000	5,000	
Dressing by	T-Shirt and Face Cap worn by				
Participants	participants	12	1,500	18,000	
	Wooden billboard erected at the				
Billboard	venue	1	100,000	100,000	

Sharing of money	Money for party's ward activities	1	10,000	10,000
Posters	Distributed at the tour	60	200	12,000
Subtotal				145,000

T. RALLY OF 13TH JUNE 2018 (DECAMPING FROM PDP TO APC) AT IYE WARD 1

1. TO LET OF TOTITOONE 2010 (DEO/MIN INO TROMP DE TO ALO) AT THE WARD I					
EXPENDITURE					
HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL	
PAS and EGS	Music set, speakers, Megaphone,				
	generator, etc.	1	30,000	30,000	
Platform	Wooden Platform	1	30,000	30,000	
Poster	Coloured posters	50	500	25,000	
Party symbol	Broom	150	100	15,000	
Costumes	T- Shirts and Face Cap	150	1,500	225,000	
Vehicles	Hire of 10 seater bus	2	10,000	20,000	
Chairs and	Hire of plastic chairs		_		
tables	and tables	50	100	5,000	
Subtotal				350,000	

U. RALLY AT OPEN SPACE BESIDES OBA'S PALACE' IYE EKITI 7^{TH} JULY 2018 AT IYE WARD 1 IN ILEJEMEJE LOCAL GOVERNMENT

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
PAS and EGS	Music set,			
	speakers,			
	megaphone,	4	00.000	00.000
	generator, etc.	1	30,000	30,000
Platform	Wooden Platform	1	30,000	30,000
	Medium size			
Poster	posters	100	200	20,000
	Broom held by			
	supporters and			
Party symbol	party leaders	150	100	15,000
	T-Shirts and Face			
Costumes	Cap	80	1,500	120,000
	Medium sized			
Banners	banners	2	8,000	16,000
	Hire of plastic			
Chairs	chairs	100	100	10,000
	Hire of medium			
Canopies	size canopies	1	4,500	4,500
Subtotal				245,500

V. RALLY HELD AT ADO EKITI ON 18TH JUNE 2018

EXPENDITURE			UNIT	TOTAL
HEAD	DESCRIPTION	QUANTITY	COST	COST

Hiring of vehicles	10 Sienna buses conveyed participants to the venue	10	10,000	100,000
	Provision for feeding was made for			
Feeding	each participant	100	1,000	100,000
Subtotal				200,000

W. RALLY HELD AT ISE/ORUN LOCAL GOVERNMENT ON 26TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST(N)	TOTAL COST(N)
0	Canopies hired for use at the campaign	24	2000	
Canopy Chairs	ground Plastic chairs hired for the event	82 82	2000 500	42,000 41,000
PAS, EGS and Musicians	DJ, music set and local musicians	1	250,000	250,000
Dressing	T-Shirts and Face Caps	200	1500	300,000
3	Customized Ankara	50	2000	100,000
Posters	APC posters pasted around the LGA	2500	100	250,000
Banners	Big Banners Medium Small	3 5 8	12,000 9,000 3,000	36,000 45,000 24,000
Branded vehicles	Branded 14 seater buses at the event	5	70,000	350,000
Hand Bills	Hand bills distributed at the rally	3,000	50	150,000
Subtotal				1,588,000

X. RALLY AT POST OFFICE GROUND ALONG ADO ROAD,OTUN EKITI, MOBA LOCAL GOVT. ON WEDNESDAY 27^{TH} JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	TOTAL
Platform and decoration	Decorated wooden platform was used at the event	1	30,000	30,000
PAS	DJ was hired to provide music with big speakers and generator	1	50,000	50,000
Banners	2 large banners and 4 small banners	2	9,000	18,000
		4	5,000	20,000
Bill board	One bill board	1	30,000	30,000
Posters	1000 posters were pasted around the venue	1000	50	50,000
Tent/canopy	8 canopies were rented	8	5000	40,000
Chairs and tables	600 chairs were used and 10 tables	600 10	50 200	30,000 2,000
Dressing	About 200 people wore branded T - Shirt and Face Caps	200	1500	300,000

Costume	About 40 women and 20 APC leaders wore specially design Ankara dress	60	2,000	120,000
Consumable items	About 1000 participants were given 1 meat pie and bottled minerals	1000	200	200,000
Subtotal				890,000

Y. GUBERNATORIAL RALLY AT OSUN WARD IN FRONT OF OWA'S PALACE, OSUN EKITI IN MOBA LOCAL GOVT. ON WEDNESDAY 27^{TH} JUNE, 2018.

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST (₦)	TOTAL
PAS	DJ was hired to provide music with big speakers and a generator	1	30,000	30,000
Canopy	2 canopies were hired	2	5000	10,000
Chairs and tables	2000 posters were rented 2 Tables	2000	50 200	100,000 400
Banner/Poster	1 big banner was mounted 1000 posters were used at the venue	1 1000	9,000 50	9,000 50,000
Dressing	40 Youths wore branded T-Shirts with Face Cap 15 leaders of the party wore specially designed Ankara dress	40 15	1500 2000	60,000 30,000
Broom	200 party members held brooms	200	100	20,000
Food	A bottle of mineral and 1 meat pie was given to about 200 people	200	200	40,000
Subtotal				349,400

Z. GUBERNATORIAL RALLY AT OSAN WARD IN OSUN TOWN HALL, OSAN EKITI IN MOBA LOCAL GOVERNMENT ON $27^{\rm TH}$ JUNE, 2018

EXPENDITURE	DESCRIPTION	QTY	UNIT COST(₦)	TOTAL (₦)
Venue decoration	Renting and decoration of Osun Town Hall		25,000	25,000
Banner/posters	1 large banner 1000 posters were used	1 1000	9000 50	59,000
PAS and Artists	DJ, music set, loud speakers and generator Local drummer (dundun) were used	1	30,000 10,000	30,000 10,000
Dressing	35 Youths wore branded T-Shirt and Face Caps	35	1,500	52,500
	20 party leaders wore specially designed	20	3,000	60,000

	Ankara			
Broom	250 participants held broom, being the symbol of the party	250	100	25,000
Consumables	A bottle of mineral and a fish pie was given to 250 participants	250	300	75,000
Video Coverage	1 camera man covered the event	1	15,000	15,000
Subtotal				351,500

AA. RALLY HELD AT IKUN MARKET SQUARE, IKUN EKITI IN MOBA LOCAL GOVERNMET ON 20^{TH} JUNE, 2018

EXPENDITURE	DESCRIPTION	QTY	UNIT COST	TOTAL
PAS	DJ came with music set, speakers and generator	1	20,000	20,000
Canopies	4 canopies were hired	4	3000	12,000
Chairs and table	400 Chairs and 4 tables were hired	400 4	50 1,000	20,000 4,000
Banners/Poster	1 big banner and 2000 posters	1 2000	9000 50	9,000 100,000
	80 persons wore branded T-Shirt with Face Caps	80	1,500	120,000
Dressing	14 leaders wore a specially designed Ankara dress	14	3000	42,000
Artists	Local drummers entertained at the venue	1	5,000	5,000
Broom	About 100 people held brooms, the symbol of the party	100	100	10,000
Vehicles	5 cars were hired to convey people round the local government	5	6,000	30,000
Sharing of money	About 300 participants were given 200 each	300	200	60,000
Subtotal				432,000

BB. RALLY HELD AT ERINMOPE TOWNHALL, ERINMOPE EKITI ON 27TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTI TY	UNIT COST (₦)	TOTAL(₩)
Venue	Hire of Erinmope Town Hall	1	25,000	25,000
PAS	DJ, music set, speakers and generator Local musician/singer	1	25,000 10,000	35,000
Banners/poster	2 small banners 2000 worth of posters were pasted	2000	5000 50	10,000 100,000
Dressing	40 youths wore branded T-Shirt with Face Cap	40	1,500	60,000

	Specially designed Ankara with party logo	10	3,000	30,000
Brooms	100 persons held brooms, the symbol of the party	100	100	10,000
Vehicle	Two (18 seater) buses were hired to convey people to the rally	2	20,000	40,000
Sharing of Money	250 people were given 200 each	250	200	50,000
Drinks	2 cartons of beer were given to the chiefs present	2	2000	4000
Subtotal				364,000

CC. RALLY HELD AT IGOGO MARKET CENTRE, IGOGO EKITI IN MOBA LOCAL GOVERNMENT, ON 27^{TH} JUNE, 2018

OOVERNIMENT, ON ZT OONE, ZOTO				
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST (N)	TOTAL(₩)
Canopy	Six canopies were used	6	5000	30,000
Chairs	400 chairs were rented	400	50	20,000
PAS	DJ, music set, speakers and EGS	1	20,000	20,000
Posters	2500 posters were pasted around the venue	2500	50	125,000
100 persons were branded T-Shirt with		100	1,500	150,000
	18 leaders wore Ankara with APC logo	18	3,000	54,000
Vehicle	10 cars were used to transport people round the local government rallies	10	5,000	50,000
Sharing of Money	300 participant were given ₩200 each for the feeding	300	200	60,000
Consumables	Four cartons of beer 1 carton of 5 Alive 4 cartons of bottled water Pure water (20 pack)	4 1 4 20	2000 3500 600 100	15,900
Subtotal				524,900

DD. FINAL RALLY HELD ON 11TH JULY, 2018 AT ISAN EKITI

BB: THATE TAKE THE BOTT TO CET, 2010 AT 10 AT 2011				
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
Platform and	Decorated metal platform	1	50,000	50,000
decoration				
Venue	Isan Secondary School field	1	30,000	30,000
Branded vehicles	Car and buses branded with	20 cars and	Car at 30,000	600,000
	the party's logo and candidate's picture	12 buses	Buses at 70,000	840,000
Posters	Posters were placed in every	5,000	200	1,000,000
	available facility in the town			
	and venue			
Dressing	T-Shirts and Face Cap	5,000	1,500	7,500,000

Consumables	Bottled water, soft drinks and rice	25 packs of bottled water	600	15,000
	Tice	15 crates of 7up	1,000	15,000
PAS	DJ, music set, large speakers and EGS	5 large speakers, music set and one generating set; Musicians from Lagos- Ajewone Sampson and 4 others	30,000 50,000 1,000,000	1,080,000
Hired Buses	Buses were hired to transport supporters to the venue from all the wards	24 buses	25,000	600,000
Party Symbol	Brooms	5,000	100	500,000
Banners	Large sized banners	10 large banners	10,000	100,000
Subtotal				12,330,000

EE. TOUR AT AYEBODE, IKOLE LOCAL GOVT ON 11TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Cap	50	1,500	75,000
Billboard	Wooden billboard erected at the venue	1	50,000	50,000
Sharing of money	Money given to the Ward	1	10,000	10,000
PAS	Music set, speakers and EGS	1	30,000	30,000
Subtotal				170,000

FF. TOUR AT ODO AYEDUN, IKOLE LOCAL GOVT ON 11TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
	T-Shirts and			
Dressing	Face Caps	70	1,500	105,000
_	Billboard			
	erected at the			
Billboard	venue	1	50,000	50,000
	Money given to			
Sharing of money	the Ward	1	10,000	10,000
•	Pasted at the			
Posters	venue	60	200	12,000

PAS	Music speakers EGS	set, and	1	30,000	30,000
Subtotal					212,000

GG. APC TOUR AT IRELE, IKOLE LOCAL GOVT 11TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
	T-Shirts and Face			
Dressing	Caps	40	1,500	60,000
	Money given to the			
Sharing of money	Ward	1	10,000	10,000
	Music set, speakers			
PAS	and EGS	1	30,000	30,000
Posters	Pasted at the venue	70	200	14,000
Subtotal				119,000

HH. TOUR AT IPAO, IKOLE LOCAL GOVT 11TH JUNE 2018; 5.30-6.30PM

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Caps	30	1,500	45,000
Sharing of money	Money given to the Ward	1	10,000	10,000
Posters	Pasted at the venue	50	200	10,000
Billboard	Erected at the venue	1	50,000	50,000
Local band	Local musician	1	10,000	10,000
Subtotal				130,000

II. TOUR AT IYEMERO, IKOLE LOCAL GOVT ON 13TH JUNE 2018; 9-9.30AM

	· · · · · · · · · · · · · · · · · · ·			
EXPENDITURE				TOTAL
HEAD	DESCRIPTION	QUANTITY	UNIT COST	COST
Venue	Rent of field	1	5,000	5,000
	T-Shirts and			
Dressing	Face Caps	20	1,500	30,000
	Erected at the			
Billboard	venue	1	50,000	50,000
	Money given to			
Sharing of money	the Ward	1	10,000	10,000
Local band	Local musician	1	5,000	5,000
Subtotal				100,000

JJ. TOUR AT ODO-ORO, IKOLE LOCAL GOVT 13TH JUNE 2018; 10.30-11AM

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST (N)	TOTAL COST (N)
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Caps	20	1,500	30,000
Billboard	Erected at the venue	1	50,000	50,000
Sharing of money	Money given to the Ward	1	10,000	10,000
Local band	Local musician	1	10,000	10,000
PAS	Music set, speaker and microphone	1	30,000	30,000
Subtotal	moropriorio	ı	00,000	135,000

KK. TOUR AT IKOLE LOCAL GOVT 13TH JUNE 2018; 1-2PM

			UNIT	TOTAL
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	COST (N)	COST (N)
Venue	Rent of field	1	5,000	5,000
	T-Shirts and			
Dressing	Face Caps	70	1,500	105,000
	Erected at the			
Billboard	venue	1	50,000	50,000
	Money given to			
Sharing of money	the Ward	1	50,000	50,000
	Pasted and			
	distributed at the			
Posters	venue	510	200	102,000
Banners	Medium Size	4	8,000	32,000
Local band	Local musician	1	10,000	10,000
	Music set, DJ,			
PAS	speakers, etc.	1	30,000	30,000
Subtotal				384,000

LL. TOUR AT AYEBODE, IKOLE LOCAL GOVT ON 11TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
	T-Shirts and			
Dressing	Face Cap	50	1,500	75,000
	Erected at the			
Billboard	venue	1	50,000	50,000
	Money given to			
Sharing of money	the Ward	1	10,000	10,000

PAS	Music speakers EGS	set, and	1	30,000	30,000
Subtotal					170,000

MM. APC TOUR AT ODO AYEDUN, IKOLE LOCAL GOVT ON 11TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Cap	55	1,500	82,500
Billboard	Erected at the venue	1	50,000	50,000
Sharing of money	Money given to the Ward	1	10,000	10,000
Posters	Pasted and distributed at the venue	100	200	20,000
PAS	Music set, speakers and EGS	1	30,000	30,000
Subtotal				197,500

NN. APC TOUR AT IRELE, IKOLE LOCAL GOVT ON 11TH JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Cap	40	1,500	60,000
Sharing of money	Money given to the Ward	1	10,000	10,000
Posters	Pasted and distributed at the venue	100	200	20,000
PAS	Music set, speakers and EGS	1	30,000	30,000
Subtotal				125,000

OO. TOUR AT IPAO, IKOLE LOCAL GOVT 11TH JUNE 2018; 5.30-6.30PM

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
	T-Shirts and			
Dressing	Face Cap	30	1,500	45,000

Sharing of money	Money given to the Ward	1	10,000	10,000
	Pasted and			
	distributed at the			
Posters	venue	50	200	10,000
	Erected at the			
Billboard	venue	1	50,000	50,000
Local band	Local musician	1	10,000	10,000
Subtotal				130,000

PP. TOUR AT IYEMERO, IKOLE LOCAL GOVT ON 13TH JUNE 2018; 9-9.30AM

				TOTAL
EXPENDITURE			UNIT	COST
HEAD	DESCRIPTION	QUANTITY	COST	
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirts and Face Cap	20	1,500	30,000
Billboard	Erected at the venue	1	50,000	50,000
Sharing of				
money	Money given to the Ward	1	10,000	10,000
Local band	Local musician	1	10,000	10,000
Subtotal				105,000

QQ. TOUR @ ODO-ORO, IKOLE LOCAL GOVT 13TH JUNE 2018; 10.30-11AM

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000.00	5,000
Dressing	T-Shirts and Face Cap	20	1,500	30,000
	Wooden billboard erected at			
Billboard	the venue	1	50,000	50,000
Sharing of				
money	Money given to the Ward	1	10,000	10,000
Local band	Local musician	1	10,000	10,000
	Music set, speaker and			
PAS	EGS	1	30,000	30,000
Subtotal				135,000

RR. TOUR AT IKOLE LOCAL GOVT 13TH JUNE 2018; 1-2PM

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Rent of field	1	5,000	5,000
Dressing	T-Shirt and Face Caps	130	1,500	195,000
	Wooden billboard erected at			
Billboard	the venue	1	50,000	50,000
Sharing of				
money	Money given to the Ward	1	30,000	30,000

Posters	Pasted and distributed at the venue	500	200	100,000
Banners	Medium Size	4	8,000	32,000
Local band	Local musician	1	10,000	10,000
	Music set, speakers and			
PAS	EGS	1	30,000	30,000
Subtotal				452,000

SS. MEGA RALLY AT ADO EKITI IN EKITI STATE HELD AT OLUYEMI KAYODE STADIUM ON 10^{TH} JULY 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD Venue	Olynomi Kayada Stadium	1	2,000,000	2,000,000
PAS	Oluyemi Kayode Stadium DJ, music set and EGS and King	1	2,000,000	2,000,000
Artists	Wasiu Ayinde Marshall (KWAM 1)	I	2,000,000	2,000,000
Broom	1000 APC chieftains held brooms, the symbol of the party	1000	100	100,000
Platform and decoration	VIP stand was decorated and mobile toilets were hired	5	100,000	500,000
Branded Vehicles	15 branded 18 seater buses with APC candidate's picture	15	70,000	1,050,000
	16 branded sienna with APC candidate's picture	16	70,000	1,120,000
	20 cars branded with APC candidate's picture	20	60,000	1,200,000
Banners	Two 60/10 banner mounted at the Stadium	2	250,000	500,000
Chairs and canopies	300 chairs were hired for VIPs	300	500	150,000
Dressing	150 blue APC branded T-Shirt and Face Cap	150	1,500	225,000
	200 yellow T-Shirt and Face Cap with the picture of APC	200	1,500	300,000
	candidate 100 branded black T-Shirt and	100	1,500	150,000
	Face Cap 60 branded green T-Shirt and	60	1,500	90,000
	Face Cap 50 red branded T-Shirt and Face	50	1,500	75,000
	Cap 100 men and women wore APC	100	2500	250,000
	branded wrapper 100 APC dignitaries wore	100	8000	800,000
Hired Buses	branded Babariga 250 buses	250	14,000	3,500,000
i iii eu Duses	200 DUSES	200	14,000	3,500,000

Party Flags	150 APC small flags	150	200	30,000
Food and drinks	Food and water was shared to over 2,000 persons	2000	1000	2,000,000
Subtotal				16,040,000

4.3 Peoples Democratic Party

A. MEGA RALLY AT ADO EKITI HELD AT FAYOSE BRIDGE (SQUARE AND FAYOSE PAVILION) 5^{TH} JULY, 2018

EXPENDITURE	DESCRIPTION	UNIT	TOTAL
HEAD		COST	
PAS and EGS	VIP and life music silver platform built by KC	4,000,000	4,000,000
	Kafumache Entertainment which includes		
	generator and life set of musical instrument.		
Umbrellas	500 PDP branded umbrellas	1,000	500,000
Performances by	Taiye Kurrency	1,500,000	1,500,000
artistes (musicians,			
comedians, etc.)			
Branded vehicles	15 branded buses with PDP candidate's	80,000	1,200,000
	picture and governor of Ekiti		
	16 branded sienna buses with PDP	70,000	1,120,000
	candidate's picture	70,000	1,120,000
	odificate o piotaro		
	20 cars branded with PDP candidate's picture	60,000	1,200,000
Banners	Two 60/10 banners mounted at the Fayose	250,000	500,000
	Pavilion	·	
Chairs and	12 double canopies hired at the cost of N5000	5000	60,000
canopies			
	2000 plastic chairs rented at the cost of N30 per		
	chair from Fast Mog Rentals	30	60,000
	1000 chairs brought from government house		
Dunganian	Ado-Ekiti	4.500	750,000
Dressing	500 PDP branded T-Shirt and Face Cap	1,500	750,000
	70 men and women wore PDP branded	3,000	210,000
	wrapper	3,000	210,000
	, mapper		
	30 PDP dignitaries wore branded Babariga	8000	240,000
Hired Buses	240 buses	14,000	3,360,000
Party Flags	100 PDP small flags	200	20,000
Food and drinks	Plated rice and water were shared to 1000	500	500,000
	persons		<u> </u>
Subtotal			15,220,000

B. RALLY HELD AT ST AUGUSTINE COLLEGE OYE-EKITI ON 14TH OF JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	St. Augustine Playing field	1	30,000	30,000
Platform and decoration	Two wooden decorated platforms were used	2	30,000	60,000
Banners	Large size banners were used	8	10,000	80,000
Posters	Medium size posters were pasted at the venue	40	100	4,000
Dressing	Party leaders and supporters wore dresses made of Ankara Materials, others wore T-Shirts and Face Caps	300 wore Ankara dresses 400 wore T-Shirts and Face Caps	Ankara dresses - 3,000 T-Shirt and Face Caps – 1,500	900,000
Branding of vehicles	2 buses and 2 cars were branded	2 buses 2 Cars	Bus – 70,000 Cars – 50,000	140,000 100,000
Consumables	20 packs of bottle water	20 packs	600	12,000
Hand bills	Small size hand bills were used	10,000	100	1,000,000
Subtotal				2,926,000

C. RALLY HELD AT OLD GARAGE ROUND ABOUT, ISE EKITI, ISE/ORUN LGA ON 21ST JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Canopies	The canopies used for the event	10	2,000	20,000
Chairs	Chairs used at the event	30	500	15,000
Artist	Local musician played at the event	1	20,000	20,000
Costume	T-Shirts and Face Cap worn by party supporters	50	1,500	75,000
Banner	Medium size banner	1	8,000	8,000
Cash	Cash donated by Prof. Eleka	1	600,000	600,000
Subtotal				738,000

D. MINI RALLY WITH OKADA RIDERS AND SELECTED MEMBERS OF THE PUBLIC HELD ON 2^{ND} JUNE 2018

EXPENDITURE			UNIT	TOTAL
HEAD	DESCRIPTION	QUANTITY	COST	COST
	Mobil, Toz and Alade Filling Stations in Ado Ekiti	0	0	0

Payment to	Okada (motor-cycle) riders in Ado	1000	5,000	5,000,000
participants	Ekiti			
Branded vehicles	6 branded buses with the candidate	6	70,000	420,000
	inscription			
Subtotal				5,420,000

E. CANDIDATE'S VISIT TO THE PALACE'S OF EWI OF ADO-EKITI ON 18TH JUNE 2018

E. O/ (I I DID/ LIE O V	E. ON ADIDATE O VIOLET ALL TALLACE OF EVEN OF ALBO ENTITION TO COME 2010				
EXPENDITURE			UNIT	TOTAL	
HEAD	DESCRIPTION	QUANTITY	COST	COST	
Venue	Palace of Ewi of Ado-Ekiti	1	0	0	
PAS	Music set, speakers and EGS	1	50,000	50,000	
T-Shirts and Cap	500 persons wore branded PDP T-Shirts and Caps.	500	1,500	750,000	
	100 were dressed in branded Ankara	100	3000	300,000	
Posters	500 posters and handbills were seen pasted and distributed	500	25	12,500	
Branded vehicles	10 branded buses	10	70,000	700,000	
Feeding	About 100 persons ate plated rice	1000	200	200,000	
Hired vehicles	20 buses hired and used to for the visit to the palace	20	15,000	300,000	
Subtotal				2,312,500	

F. CANDIDATE'S VISIT TO THE AGO ADULOJU IN ADO EKITI ON JUNE 19, 2018

7.074142127412	DESCRIPTION	QUANTITY	UNIT	TOTAL
EXPENDITURE			COST	COST
Decorated	Stage constructed and decorated with			
platform	party logo.	1	100,000	100,000
PAS	DJ, music set and EGS	1	30,000	30,000
	200 posters and handbills were pasted			
Posters	and distributed	200	25	5,000
	500 persons put on branded PDP T-Shirts			
Dressing	and Face Caps.	500	1,500	750,000
	Big banners of the PDP candidate were			
Banners	displayed	10	20,000	200,000
	11 big buses hired and used to for the			
Vehicles	campaign	11	30,000	330,000
Canopies	5 canopies were hired	5	5000	25,000
Tables	20 tables were hired	20	500	10,000
Chairs	200 chairs were hired	200	50	10,000
Subtotal				1,460,000

G. CAMPAIGN AT EKITI EAST LGA ON 20TH OF JUNE, 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Venue	The front of Olomuo's Palace was hired for rally	1	10,000	10,000
PAS	DJ, music set, speakers and EGS	1	50,000	50,000

Canopy	2 large and 2 small sized canopies	2	10,000	20,000
		2	5000	10,000
Chairs and tables	100 chairs and 10 tables were hired	100	50	5,000
		10	300	3,000
Dressing	Youths numbering 50 wore Continuity	50	1,500	75,000
	Agenda T-Shirts while about 20 put on	20	3000	60,000
	Osoko Movement Ankara materials			
Sharing of money	Senator Chief Mrs. Biodun Olujimi gave the sum of 100,000 to each ward in the LGA	12	100,000	1,200,000
Subtotal				1,433,000

H. LOCAL GOVERNMENT RALLY HELD AT EKITI EAST LGA ON 08/07/2018.

EXPENDITURE HEAD	DESCRIPTION	QUANTIT Y	UNIT	TOTAL
			COST	COST
PAS	DJ, music set, speakers and	1	50,000	50,000
	EGS			
Artists	Local musicians	3	100,000	300,000
Banners	5 large banners and 10 medium	5	12,000	60,000
	banners	10	8,000	80,000
Branded vehicles	5 branded buses	5	70,000	350,000
Umbrella	50 party faithful held customized	50	700	35,000
	umbrella with PDP logo			
Dressing	200 youths put on branded T-	200	1,500	300,000
	Shirts and Face Caps while the			
	leaders and the dignitaries put			
	on Ankara of the Osoko	50	2000	100,000
	Movement			
Subtotal				1,275,000

I. CAMPAIGN HELD AT ILAWE-EKITI IN EKITI SOUTH WEST ON THE 27TH OF JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Ilawe-Ekiti	1	0	0
Decorated Platform	Decorated wooden platform was used	1	50,000	50,000
Canopy	4 canopies were erected	4	5,000	20,000
PAS	DJ, music set, big speakers and EGS	1	40,000	40,000
Chairs and tables	150 chairs and 5 tables	150 5	50 300	7,500 1,500
Branded vehicles	4 branded buses were used	4	70,000	280,000
Dressing	150 party members wore customized T-Shirt and Face Cap of the candidate	150	1,500	225,000
Sharing of money	150,000 was given to each of the 7 Wards in Ilawe and;	7	150,000	1,050,000
	150,000 was given to the King and Council.	1	150,000	150,000

Subtotal	1,824,000
----------	-----------

J. GUBERNATORIAL CAMPAIGN RALLY HELD AT SAINT MARY'S PRIMARY SCHOOL ODE-EKITI ON 28TH MAY, 2018

Triff Old Zofff Wilder, Z	J			T
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
Venue	Public primary school	1	20,000	20,000
Security	Police	15	10,000	150,000
	Civil Defence	15	10,000	150,000
	Road Safety	15	10,000	150,000
Chairs and canopies	Chairs	3,500	50	175,000
	1000 capacity mega canopy	2	180,000	360,000
PAS	DJ, music set, speakers and EGS	1	70,000	70,000
Dressing	T-Shirts and Face Cap	100	1,500	150,000
Buses and cars	18 seater buses	10	30,000	300,000
Podium/Stage and decoration	Wooden stage Decoration 1 photographer/video man	1	50,000 150,000	50,000 150,000
Photographer/Video	covered the event	1	50,000	50,000
Billboard	Wooden billboard - medium size	5	50,000	250,000
Mobilization cost	This was for participants from different towns and villages	2,000	1000	2,000,000
Food and drinks	Food and drinks	3,000	200	600,000
Protocol officials	Hired protocol	15	2,000	30,000
Publicity on radio	EKTV, EK Radio and others	8	25,000	200,000
Subtotal				4,855,000

K. CAMPAIGN HELD ON WEDNESDAY 27TH JUNE, 2018 AT ILAWE-EKITI

IV. O/ IIVII / IIOIVI I ILLED OIV	N. CAINI AIGN FIELD ON WEDNESDAT 27 HT JOINE, 2010 AT TEAWE-EIGHT			
EXPENDITURE HEAD			UNIT	TOTAL
	DESCRIPTION	QUANTITY	COST	COST
Platform and decoration	A decorated wooden			
	platform	1	50,000	50,000
Artiste	A local musician	1	70,000	70,000
PAS	Speakers, amplifier and EGS	1	50,000	50,000
	Video coverage and			
Video coverage	photography	2	25,000	50,000
Banners	Small banners	4	8,000	32,000
	Big banners	2	20,000	40,000
Poster	2000 posters were pasted in			
	different places around the			
	venue	2000	30	60,000
Dressing	About 200 party members			
	wore a customized Shirt and			
	Cap	200	1500	300,000

Sharing of money	150,000 for each ward in			
	llawe and 150,000 for the	5	150,000	750,000
	Palace	1	150,000	150,000
Tables	Tables for participants	10	100	1,000
Chairs	Chairs for participants	1500	50	75,000
Canopies	Very large canopies	13	15,000	195,000
Subtotal				1,823,000

L. RALLY HELD AT OPEN GROUND IN FRONT OF ELEMURE PALACE IN EMURE LGA ON $22^{\rm nd}$ JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	Total cost
Venue	Open Ground at the Front of Elemure Palace	1	0	0
Mobile platform	1 metal mobile platform 3mx3m	1	150,000	150,000
PAS	DJ, music set, speakers and EGS	1	20,000	20,000
Banner	1 large banner	1	30,000	30,000
Posters	Pasted and distributed posters at venue	30	200	6,000
Dressing	Over 300 persons wore PDP candidate's branded T-Shirt and Face Caps	300	1,500	450,000
Canopies	Two small canopies	2	3,000	6,000
Chairs	3 dozen of plastic chairs	36	50	1,800
Vehicle	5 buses were hired to convey participants to the rally ground	5	30,000	150,000
Sharing of money	One hundred thousand naira was given to each ward in the LGA	10	100,000	1,000,000
Food	10 bags of rice was brought to the venue and later shared to students of primary and secondary schools.	10	17,000	170,000
Subtotal				1,983,800

M. CAMPAIGN FINANCE AT GBONYIN LOCAL GOVERNMENT AREA IN THE MONTH OF JULY, 2018 (PDP paid different categories of persons not to attend APC rallies; drivers to sit at home, teaching and non-teaching staff of schools and LG workers to stay away from the rally)

nome, todening and	nen teaening stan er senesie and 20 menter	s to otay amay	monn and ran	<i>J</i> /
EXPENDITURE			UNIT	
HEAD	DESCRIPTION	QUANTITY	COST	TOTAL
Sit at home	Drivers were tipped to stay at home from 6am to 4pm	59 cars 23 buses	5,000 10,000	295,000 230,000
Pre-election mobilization	Teaching and Non-teaching staff in primary schools			

	Teaching and Non-teaching	700	3,000	2,100,000
	staffs in secondary schools			
	Local government staffs	350	3,000	1,050,000
		4000	3,000	12,000,000
Subtotal				15,675,000

N. RALLY HELD AT IFELODUM/IREPODUN LOCAL GOVERNMENT AREA ON 11^{TH} JUNE 2018

2010				
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
Venue	Iworoko Party Secretariat Ward (A)	1	0	0
Podium	Wooden Podium Erected	1	30,000	30,000
PAS	Music set, DJ, speakers and EGS	1	30,000	30,000
Dressing	Party members wore T- Shirts & Face Caps while party leaders wore Ankara with	150	1,500	225,000
Foods And Drinks	customised Face Caps Take away jollof rice and drinks for 1000 persons	1000	600	240,000
Sharing of money	70 persons were given transport fare	70	1000	70,000
Branded vehicles	Branded buses accompanied the candidate to the rally	7	70,000	490,000
Banners and posters	Big banners and posters	4/6 (4 banners) 50 posters	8,000 200	32,000 10,000
Chairs and tables	Tables and chairs hired for the event	250 Plastic Chairs & 15 Tables	200 (Chairs) 150 (Tables)	50,000 2,250
Canopies	6 canopies were used	6	6000	36,000
Subtotal				1,815,250

O. RALLY HELD AT IKERE LOCAL GOVERNMENT AREA ON 7TH JUNE, 2018

EXPENDITURE			UNIT	
HEAD	DESCRIPTION	QUANTITY	COST	TOTAL
PAS	DJ, music set, speakers and EGS	1	150,000	150,000
Funtantain na ant	I have been deep on a section week to be	4	50.000	50.000
Entertainment	Live band on moving vehicle	1	50,000	50,000
Umbrella	10 party executives held party umbrella	10	1000	10,000
Banners	2 large banners and	2	10,000	20,000
	10 small banners	10	3000	30,000
Posters	500 posters were distributed at the venue	500	50	25,000
Hand bills	Over 2000 hand bills	2000	20	40,000
Special Dressing	750 persons wore branded T-shirt and	750	1500	1,125,000
	Face Cap			
Subtotal				1,450,000

P. RALLY HELD AT ISE/EMURE JUNCTION ALONG POST OFFICE ROAD IKERE ON 28^{TH} JUNE, 2018

00112, 2010					
EXPENDIT	URE			UNIT	
HEAD		DESCRIPTION	QUANTITY	COST	TOTAL
PAS		DJ, music set, speakers and EGS	1	30,000	30,000
Platform	and	and Decorated wooden platform		30,000	30,000
decoration	•				
Chairs	and	Plastic chairs and canopies	1000 chairs	60	60,000
canopies			15 canopies	2000	30,000
Umbrella		Umbrellas were held by party faithful	300	700	210,000
Banners		3 large banners	3	10,000	30,000
10		10 medium size banners	10	8,000	80,000
Hand bills		Over 2000 hand bills were shared at the	2000	20	40,000
		venue			
Posters		Posters were distributed	500	30	15,000
Dressing		500 men and women wore PDP T-Shirt	500	1,500	750,000
		and Face Cap and VIPs wore branded			60,000
		Ankara	20	3000	
Subtotal	·				1,335,000

Q. CAMPAIGN MEETING AT WARD 8 ODO-AYEDUN IKOLE LOCAL GOVERNMENT ON THURSDAY 31ST MAY, 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD	DEGGIAII TIGIN	QUANTITI	COST	COST
Venue and	Field at Odo-Ayedun and wooden	1	50,000	50,000
Platform	platform for speakers			
PAS	DJ, music set, speakers and EGS	1	50,000	50,000
Chairs, Tables	Chairs	1000	100	100,000
and Canopies	Tables	5	500	2,500
	Canopies	10	5000	50,000
Banners	10 medium size banners	10	8,000	80,000
Posters	500 poster were used	500	200.00	100,000
Food	Food packs	1000	500	500,000
Transportation fee	5 Wards were given money for	5	5,000	25,000
per Ward	transportation			
3 Wards due to distance		3	7000	21,000
	2 Wards remaining	2	9000	18,000
Subtotal				996,500

R. SUPPORT AWARENESS AT ASIN/ISABA IKOLE LOCAL GOVERNMENT ON $31^{\rm ST}$ MAY 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Venue for the rally	Asin/Isaba Play ground	1	30,000	30,000
PAS	DJ, music set, speakers and EGS	1	50,000	50,000
Dressing	T-Shirts and Face Cap	12	1,500	18,000
Banners	2 big Banners	2	5,000	10,000

Posters	Pasted at the venue and distributed to participants	500	200	100,000
Food packs	For participants at the rally	300	500	150,000
Subtotal				358,000

S. PDP TOUR AT IKOLE LOCAL GOVT ON 5TH JULY, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT	TOTAL
EXPENDITORE TIEAD	DESCRIPTION	QUANTITI	COST	COST
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Entertainment	Local musician hired	1	50,000	50,000
Dressing	T-Shirt and Face Cap	100	1,500	150,000
Billboard	Medium size wooden bill boards	1	50,000	50,000
Sharing of money	To the Ward	1	30,000	30,000
Posters	Distributed and pasted at the venue	200	200	40,000
Banners	Medium size banners	5	8,000	40,000
Subtotal				390,000

T. TOUR AT IKOLE LOCAL GOVT ON 15TH MAY 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
PAS	Music set, speakers and EGS	1	30,000	30,000
Podium	Wooden podium	1	30,000	30,000
Entertainment	Local music band	1	50,000	50,000
Dressing	T-Shirt and Face Cap	130	1,500	195,000
Billboard	Medium size wooden billboard	1	50,000	50,000
Posters	Distributed and pasted at the venue	500	200	100,000
Banners	Medium size banners	5	8,000	40,000
Total				495,000

U. FINAL RALLY AT ST JOHN PRIMARY SCHOOL IYE EKITI 10TH JULY 2018 @ IYE EKITI

EXPENDITURE		QUANT	UNIT	TOTAL
HEAD	DESCRIPTION	ITY	COST	COST
PAS	Music set, speakers and EGS	1	30,000	30,000
Platform	Metal Platform	1	50,000	50,000
	Medium size posters pasted and			
Posters	distributed at the venue	1000	30	30,000

Umbrella	supporters & leaders	20	500.00	10,000
Dressing	T-Shirt and Face Caps	80	1,500	120,000
Banners	Big size banners	2	10,000	20,000
Chairs	Plastic chairs used at the event	150	100	15,000
Canopies	Medium size canopies	2	4,500	9,000
Subtotal				284,000

V. GUBERNATORIAL RALLY AT OLD GARAGE ROUND ABOUT, ISE EKITI, ISE/ORUN LOCAL GOVT ON 21ST JUNE, 2018

EXPENDITURE HEAD DESCRIPTION		QUANTITY	UNIT COST	TOTAL COST
PAS	Music set, speakers and EGS	1	30,000	30,000
Canopy	The canopies used for the event	10	3,000	30,000
Chairs	The chairs used for the event	42 dozens	500	21,000
T-Shirt and Face Cap worn by par supporters		50	1,500	75,000
Banner	Medium size banners	1	8000	8,000
Sharing of	Cash donated to the Ward by Prof.			
money	Eleka	1	600,000	600,000
Subtotal				764,000

W. PROF. ELEKA BOYS DISTRIBUTING BOOKS ACROSS PUBLIC PRIMARY AND SECONDARY SCHOOLS IN ISE/ORUN LGA ON 21ST JUNE 2018

EXPENDITURE			UNIT	TOTAL
HEAD	DESCRIPTION	QUANTITY	COST	COST
	40 leaves exercise books given to the			
Exercise books	pupils	800	50	40,000
Biro	Biros were also given to them	800	15	12,000
Subtotal				52,000

X. RICE DONATED FOR PEOPLE IN ISE/ORUN LGA ON 17TH AND 20TH JUNE, 2018

EXPENDITURE				TOTAL
HEAD	DESCRIPTION	QUANTITY	UNIT COST	COST
Food Stuff	Rice	11 bags of rice	15,500	170,500
Subtotal				170,500

Y. RALLY AT POST OFFICE GROUND ALONG ADO ROAD, OTUN EKITI, MOBA LOCAL GOVERNMENT ON 19TH OF MAY, 2018

EXPENDI HEAL	_		DESCRIPT	ION		QUANTITY	UNIT COST	TOTAL
PAS		Music set	t, speakers a	and E0	GS	1	50,000	50,000
Canopies,	chairs	Rented	canopies	to	shelter	14	5000	80,000
and tables		participar	nts			800	50	4,000

	Rented Chairs for participants Tables for participants	10	200	2,000
Tables	10 Tables were used	10	200	2,000
Banners	2 large banner medium sized	2	9,000	18,000
T-Shirt and Face Cap	200 T-Shirt and Face Cap were distributed to the participant	200	1,500	300,000
Consumable items	Carton of Red wine for the high table	2	7,500	15,000
Security outfits	Police officers Civil Defense corps DSS SIB		30,000 10,000 10,000 5,000	55,000
Sharing of money	For administrative expenses of running the wards	11 wards	40,000	440,000
Subtotal				992,000

Z. WARD RALLY AT OSUN EKITI IN MOBA LOCAL GOVERNMENT AREA ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Platform and decoration	1 decorated wooden platform	1	30,000	30,000
Banners	Medium size	4	8,000	32,000
Posters	Posters	500	50	25,000
Video coverage	A camera man covered the event	1	25,000	25,000
Branded T- Shirt and Face Cap	40 youths wore branded T- Shirt and Face Cap	40	1,500	60,000
Sharing of money	Money given to 350 participants and chiefs from the four communities were given a sum of № 50,000 per community	350 4	1,000 50,000	350,000 200,000
Subtotal				752,000

AA. WARD RALLY (OTUN WARD 1, 2& 3) AT POST OFFICE GROUND, OTUN EKITI IN MOBA L.G.A ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Platform and decoration	Decorated wooden podium	1	30,000	30,000
PAS and Entertainment	A local Fuji musician with PAS, big speakers and EGS	1	100,000	100,000
Banners	2 big banners, 4 medium size banners	2 4	10,000 8000	20,000 32,000
Posters	Posters of the candidate distributed to the wards	2,000	35	70,000

Dressing	100 branded T-Shirt and Face Cap with the picture of candidate	100	1500	150,000
Canopies and chairs	Rent of Six Tents/Canopies Rent of plastic chairs	6 1000	3,000 50	18,000 50,000
Sharing of money	Feeding allowance for 1,200 participants; money given to Traditional Council.	1,200 1	1000 200,000	1,200,000 200,000
Subtotal				1,870,000

BB. WARD RALLY AT ERINMOPE WARDS (1&2) IN MOBA LOCAL GOVT ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Erinmope Town Hall	1	20,000	20,000
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Posters	1000 posters of the candidate pasted and distributed at the venue	1000	50	50,000
Banners	2 medium size banners	2	8,000	16,000
Dressing	Branded T- Shirt and Face Caps	100	1,500	150,000
Sharing of money distributed	600 participants were given \$\frac{1}{4}1,000\$ each. The Traditional Council of the (3) communities were given \$\frac{1}{4}50,000\$ per community	600 persons 3 commun- ities	1000 50,000	600,000 150,000
Video Coverage	A camera man covered the event	1	25,000	25,000
Subtotal				1,041,000

CC. RALLY AT IGOGO MARKET CENTRE IN MOBA LGA ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION		UNIT COST (₦)	TOTAL (₦)
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Platform & decoration	One decorated wooden platform	1	30,000	30,000
Canopies and chairs	Ten canopies were used to shelter participants 300 chairs were used	10 300	5,000 50	50,000 15,000
Banners	Six medium size banners were displayed	6	8,000	48,000
Posters 1000 posters were given to Igogo Ward 1 & 2		1000	50	50,000
Video coverage	A cameraman covered the event	1	25,000	25,000

T – shirt	50 branded T –Shirt and Face Cap worn by youths	50	1,500	75,000
Sharing of money	450 participants were given N1000 each. The Traditional Council from the three community that makes Igogo Ward I&2 were given N50,000 per community	450 3	1000 50,000	450,000 150,000
Subtotal				923,000

DD. IKUN WARD 1 & 2 RALLY AT IKUN MARKET CENTRE IN MOBA LGA ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	TOTAL
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Platform	Wooden platform	1	30,000	30,000
Canopies	12 canopies were used	12	5,000	60,000
Chairs & tables	300 chairs and 6 tables were used	300 6	50 200	16,200
Banners	4 banners (medium size)	4	6000	24,000
Posters	Each of the two wards in Ikun were given 500 posters each	1000	50	50,000
T – shirt	60 youths wore T – Shirt and Face Cap at the rally	60	1,500	90,000
Money	About 300 participants were given	300	1000	300,000
distributed	1000 naira each and the Traditional			50,000
	Council got 50,000 naira	1	50,000	
Video coverage	Two camera men covered the event	2	15,000	30,000
Subtotal				680,200

EE. WARD RALLY AT OSAN TOWN HALL ON MOBA LGA ON 19TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST (₦)	TOTAL (₦)
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Platform and decoration	Decorated wooden platform	1	30,000	30,000
Canopies and chairs	Four canopies were erected 400 plastic chairs	4 400	5,000 50	20,000 20,000
Banners	Two medium size banners and four small banners	2	8,000 5,000	16,000 20,000
Posters	500 posters given to the Ward	500	50	25,000
Dressing	25 youths wore customized T-Shirt and Face Cap	25	1,500	37,500
Video coverage	One camera man covered the event	1	25,000	25,000
Sharing of money	To 180 participants To the Traditional Council	180 1	1,000 50,000	180,000 50,000
Food items	Ten crates of seven-up/minerals	10	1,300	13,000
Subtotal				466,500

4.7 Social Democratic Party

A. GOVERNORSHIP CAMPAIGN RALLY HELD AT MAYEGUN ROYAL HOTEL OYE-EKITI ON 21ST OF JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Mayegun Royal Hotel	1	25,000	25,000
Platform and decoration	Decorated wooden platform	1	30,000	30,000
Banners	Medium size banners were used	4	8,000	32,000
Posters	Posters pasted and distributed at the venue and environs	200	200	40,000
Costumes	Party Supporters wore T-Shirt and Face Cap	60	1,500	90,000
Consumables	Bottled waters and soft drinks.	Bottle water- 10 Packs. Soft drink	Bottle water -600	6,000
		7up - 10 Cartons	7 up- 1,300	13,000
Subtotal				236,000

B. GOVERNORSHIP CAMPAIGN RALLY HELD AT SDP PARTY SECRETARIAT OYE-EKITI ON 23RD OF JUNE 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	St. Augustine Playing field	1	30,000	30,000
Platform and decoration	Decorated wooden platform	1	30,000	30,000
PAS	DJ, music set, speakers and EGS	1	30,000	30,000
Banners	Both Large size and small size banners were used.	6 large size 3 small size	Large size - 12,000 Small size - 6000	90,000
Posters	Posters pasted and distributed at the venue	300	50	15,000
Dressing	Party leaders and supporters wore customized dress made of Ankara material	25	3000	75,000
Canopies and chairs	Big canopies, plastic tables and chairs were used	5 Big canopies 10 dozens of plastic tables and Chairs	Canopies- 5000 Dozens of plastic tables and chairs – 2000	25,000 20,000

Branding vehicles	of	3 cars were branded	3 cars	50,000	150,000
Subtotal					465,000

C. GOVERNORSHIP CAMPAIGN RALLY HELD AT IGBARA-ODOEKITI ON 12TH JUNE, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
Venue	Open field Igbara-Odo Ekiti	1	0	0
PAS	DJ, music set, speakers and EGS	1	50,000	50,000
Banners	Large size and medium size banners were used	2 large size 1 small size	10,000 6,000	20,000 6,000
Posters	Small size posters was used	200	50	10,000
Costumes	Party leaders and supporters wore customized dress made of Ankara material.	25	3,000	75,000
Canopies and chairs	Big canopies, plastic tables and chairs were used	3 big canopies 150 plastic chairs	5000 50	22,500
Branding of Vehicles	2 buses were branded	2	70,000	140,000
Subtotal				323,500

D. MINI CAMPAIGN AT FILLING STATION ILAWE-EKITI ON TUESDAY 12TH JUNE, 2018

EXPENDITURE	DESCRIPTION		UNIT	TOTAL
HEAD		QUANTITY	COST	COST
Banners	2 very big banners were used	2	15,000	30,000
Posters	200 posters were pasted in different			
	places around the venue	200	50	10,000
Handbills	500 Handbills	500	20	10,000
Branded vehicles	2 branded vehicles were used	2	2,000	4,000
Transport	500 litres of petrol was distributed to			
	fuel vehicles and motor bicycles	500	145	72,500
Subtotal				126,500

E. MINI CAMPAIGN AT FILLING STATION IGBARA-ODO-EKITI ON WEDNESDAY 13TH JUNE, 2018

_0.0				
EXPENDITURE	DESCRIPTION		UNIT	TOTAL
HEAD		QUANTITY	COST	COST
Banners	2 big banners were used	2	15,000	30,000
	1 small banner	1	6,000	6,000
Posters	200 posters were pasted in different			
	places around the venue	200	50	10,000
Handbills	500 Handbills	500	20	10,000
Branded	2 branded buses were used			
vehicles		2	70,000	140,000

Transport	500 litres of petrol was distributed to fuel			
	vehicles and motor bicycles	500	145	72,500
Subtotal				268,500

F. RALLY HELD ON THE 5TH JULY 2018 AT IFAKI

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL COST
			COST	
Hall	Hiring of hall for the rally	1	22,000	22,000
PAS	DJ, music set, speakers and EGS	1	12, 000	12,000
Buses	Hire of 10 buses to convey participants	10	13, 000	130,000
Video coverage	1 cameraman covered the event	1	15, 000	15,000
Sharing of	500 was shared among 700 men, youth	700	500	350,000
money	and women			
Subtotal				529,000

G. RALLY HELD AT IFELODUN/IREPODUN LGA ON SATURDAY 16TH, JUNE, 2018

C. TARLET TILLED AT IT LEODOTATICS OBOTAL CONTONE AT TOTAL, CONE, 2010				
EXPENDITURE				
HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
Venue	Iworoko Party Secretariat Ward (A)	0	0	0
PAS	Music set, speakers and EGS	1	30,000	30,000
		60 T- Shirts		
		and Face		
Dressing	Party members wore T-Shirts & Caps	Cap	1,500	90,000
	while party leaders wore Ankara with	20 Ankara		
	Face Caps	materials	3,000	60,000
			100 (Egg roll)	
Food and drinks		1000	10 (Sachet	
	Egg roll and sachet water	2000	water)	120,000
Chairs and		50 plastic		
tables		chairs and 5	50 (Chairs)	
เลมเซอ	Tables and chairs for the participants	tables	100 (Tables)	3,000
Subtotal				303,000

H. RALLY AT ODO-ORO WARD 3 IKOLE LGA ON 4TH JUNE 2018

1. NALET AT ODO-ONO WAND STROLL LOA ON 4111 JOINE 2010				
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL COST
HEAD			COST	
Venue	Odo-Oro Field	1	25,000	25,000
Chairs and	2,000 chairs were used by	2,000	50	100,000
tables and canopies	participants 20 tables were used by participants	20	200	4,000
	3 canopies sheltered participants	3	5,000	15,000
Banners	6 medium banners were displayed	6	8,000.00	48,000
Posters	3,000 posters were distributed	3,000	50	150,000
Food	Jollof rice in packs for 2,000 persons	2,000	450	900,000

	Soft drinks for 2000	2000	1000	2,000,000
Total				3,242,000

I. TOUR AT IKOLE LOCAL GOVT ON 15TH MAY, 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST (N)	TOTAL COST (N)
PAS	Music set, speakers and EGS	1	30,000	30,000
Entertainment	Local musician	1	50,000	50,000
Banners	Medium size banners	2	8,000	16,000
Billboard	Medium size wooden billboard	1	50,000	50,000
Posters	Distributed and pasted around the venue	400	500	200,000
Dressing	T-Shirts and Face Cap	40	1,500	60,000
Money	Given to the Ward for administrative purposes	1	30,000	30,000
Total			_	436,000

J. RALLY/CAMPAIN AT IYE, ILEJEMEJE LOCAL GOVERNMENT

EXPENDITURE			UNIT	TOTAL
HEAD	DESCRIPTION	QUANTITY	COST	COST
PAS	Music set, speakers and EGS	1	30,000	30,000
Entertainment	Local music band	1	25,000	25,000
Platform	Decorated wooden platform	1	40,000	40,000
	Distributed and pasted at the			
Posters	venue	200	50	10,000
Dressing	T-Shirt and Face Caps	100	1,500	150,000
Vehicles	Hire of 10 Seater bus	2	15,000	30,000
	Plastic chairs and tables used at			
Chairs and tables	the event	50	200	10,000
Banners	Large	2	15,000	30,000
	Medium	4	8,000	32,000
Billboard	Wooden bill board	1	50,000	50,000
Charing of many	Manay siyan ta nartisinarta	50	4.000	50,000
Sharing of money	Money given to participants	50	1,000	50,000
Total				457,000

K. RALLY AT OPEN SPACE OKE-IYE EKITI ON 26TH JUNE 2018

			UNIT	
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	COST	TOTAL
Hire of vehicles	Mini-buses	5	10,000	50,000
Dressing	T-Shirt and Face Cap	50	1,500	75,000
Banners	Medium size banners	2	8,000	16,000
	Music set, speakers and			
PAS	EGS	1	30,000	30,000
Subtotal				171,000

L. RALLY HELD AT MOBA LOCAL GOVERNMENT ON 7TH JULY 2018

EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
PAS	Music set, speakers and EGS	1	30,000	30,000
Hire of vehicles	12 buses (18 Seater) were hired for the campaign train	12	20,000	240,000
Tille of veriloles	5 cars were hired for the campaign train	5	10,000	50,000
Branded vehicles	2 SUVs were branded with the candidate's picture	2	70,000	140,000
Hand bills	About 4000 hand bills were distributed	4,000	20	80,000
Posters	About 2000 posters were pasted across the LGA	2,000	20	40,000
Sharing of money	10,000 was given to each of the eleven wards in the local government	11	10,000	110,000
Dressing	About 30 people wore branded T-Shirt and Face Cap	30	1,500	45,000
Subtotal				735,000

M. FINAL RALLY HELD ON 10TH JULY, 2018 AT ILUPEJU EKITI

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Venue	Ilupeju Town Hall	1	20,000	20,000
Platform and	Decorated wooden platform	1	15,000	15,000
decoration				
Posters	Posters distributed and pasted at the	500	50	25,000
	premises			
Hand Bills	Medium size hand bills was	150	100	15,000
	distributed			
Banners	Large size banners	5 large	7,000	35,000
		banners		
Dressing	T-Shirt and Cap	300	1,500	450,000

Consumables	Bottled water and soft drinks	10 packs of	600	6,000
		bottled		
		water		
		10 crates of	1,300	13,000
		7up	·	·
Subtotal				579,000

4.5 ACTION DEMOCRATIC PARTY

A. RALLY HELD AT IWORO ON 20TH OF JUNE, 2018

7. TO LEET THEED AT TWO CO ON ZOTH OF BOINE, 2010				
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Venue	Iworo Town Hall	1	5,000	5,000
PAS	DJ, music set, speakers and EGS	1	50,000	50,000
Hire of vehicles	Vehicles (buses) were hired to	20	15,000	300,000
	convey people to the venue			
Dressing	100 youths wore red T-Shirts and	100	1,500	150,000
	Face Cap			
Sharing of phones	10 android phones and plasma	100 phones	15,000	1,500,000
and money	Television were given to the party	2Televisions	25,000	500,000
	faithful			
Subtotal				2,055,000

B. WARD MEETING/RALLY HELD AT EKITI WEST LGA, ARAMOKO-EKITI (11 WARDS) ON WEDNESDAY, 6^{TH} JUNE 2018

EDIEOD/**1, 0	0011E 2010			
EXPENDITURE	DESCRIPTION	QUANTITY	UNIT	TOTAL
HEAD			COST	COST
Sharing of	Mobilization of party members	65	5,000	325,000
money				
Chairs	Plastic Chairs	40	50	2,000
Bottled water	4 cartons of bottled water	96	50	4,800
Posters	Big posters distributed and shared at	50	200	10,000
	the venue			
Subtotal				341,800

C. RALLY HELD AT IGEDE IN IFELODUN/IREPODUN LGA ON SUNDAY 24TH, JUNE 2018

EXPENDITURE			UNIT	
HEAD	DESCRIPTION	QUANTITY	COST	TOTAL
PAS				
FAS	Music set, speakers and EGS	1	10,000	10,000
		100 T-Shirts		
	Party members wore T-Shirts and	Face Cap;		
Dressing	Face Cap; Party leaders wore native	70 long	1,500	
	long sleeve shirts with customised	sleeves with		150,000
	Face Cap	Face Cap	1000	70,000

Foods and drinks	Farmell and another water	1000	100	100,000
	Egg roll and sachet water	2000	10	20,000
Valuables shared	GSM phones were distributed to			
	some participants	25	N15,000	375,000
		1000		
		copies of the		
Magazines		manifesto		
	Otunba Adewale manifesto in hard	100 big	500	500,000
	copy and big notes were distributed	notes	90	9,000
Donners and			15,000	
Banners and	Big banners hung at the venue	4	banners	60,000
posters	Posters	500	50 posters	25,000
			50	
		50 plastic	(Chairs)	
Chairs and tables	Tables and chairs for few	chairs & 2	100	
	participants	tables	(Tables)	2,700
		5 Hummer		500,000
Branded vehicles	Branded Hummer SUVs and a	SUV	100,000	
	Luxury Bus branded with the picture	A Luxury		200,000
	of the candidate	Bus	200,000	,
Subtotal				2,021,700

D. WARD MEETING AT WARD 11 IPAO, IKOLE LGA PUT TOGETHER BY OGUNLADE FRANCIS ITUNU ON 4TH JUNE 2018

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD			(N)	
Chairs and tables	50 chairs were hired	50	50	2,500
	2 tables were hired	2	200	400
Banners	2 big banners were used	2	12,000	24,000
Posters	Pasted and distributed at the	500	50	25,000
	venue			
Food and drinks	Snacks for 50 persons	50	250	12,500
	Soft drinks	50	150	7,500
Subtotal				71,900

E. TOUR AT IKOLE LGA ON 6TH JULY, 2018

L. TOOK AT INOLE EGA ON OTTIONET, 2010				
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST (N)	TOTAL COST (N)
PAS	Music set, speakers and EGS	1	30,000	30,000
Entertainment	Local musician	1	40,000	40,000
Podium	Decorated wooden podium	1	30,000	30,000
Banners	Medium size banners	5	8,000	40,000
Posters	Pasted and distributed at the venue	1000	50	50,000
Billboards	Medium size wooden billboard	1	50,000	50,000
Dressing	T-Shirt and Face Cap	150	1,500	225,000
Sharing of money	Shared to the Ward leaders	1	30,000	30,000

Subtotal 495,000

F. MR DEJI OGUNSAKIN DONATED FOOD ITEMS AND CASH TO THE MUSLIMS IN ISE/ORUN LOCAL GOVERNMENT ON $3^{\rm RD}$ JUNE, 2018 AT ISE EKITI CENTRAL MOSQUE

	, <u>, </u>			
EXPENDITURE HEAD	DESCRIPTION	QUANTITY	UNIT COST	TOTAL COST
	Bags of rice	5	15,500	77,500
	Cartons of spaghetti	5	3,300	16,500
Food items	Carton of peak milk	5	10,000	50,000
	Sachet Sugar	1	3,800	3,800
Sharing of money	To persons at the mosque –lump sum given to the leadership.	1	100,000	100,000
Subtotal				247,800

G. RALLY HELD AT MOBA LGA ON 6TH JULY 2018

EXPENDITURE HEAD	DESCRIPTION	QTY	UNIT COST	TOTAL
Olassia a sé assassa	A sum of 20,000 each was given to all the eleven wards and the Local	11	20,000	220,000
Sharing of money	Government The LGA Secretariat was given N30,000	1	30,000	30,000
Posters	About 5000 posters were pasted and distributed across the LGA	5000	50	250,000
Subtotal				500,000

H. FINAL RALLY HELD ON 9TH JULY, 2018 AT THE AYEDE EKITI PARTY SECRETERIAT

EXPENDITURE	DESCRIPTION	QUANTITY	UNIT COST	TOTAL
HEAD				COST
PAS	Music set, speakers and EGS	1	30,000	30,000
Platform	Wooden platform	1	25,000	25,000
Banners	Large banner	7	10,000	70,000
Transportation	Car and buses	5 buses and 2	25,000 for	145,000
		car	buses and	
			10,000 per car	
Posters	Posters were placed in strategic	600	200	120,000
	places in the Town			
Hand bills	Small hand bills were distributed	5000	20	100,000
Party flags	Party flags of different sizes were	400	200	80,000
	distributed			
Costumes	T-Shirt and Face Cap	200	1,500	300,000
Food and drinks	Bottled water, soft drinks and	15 packs of	600	9,000
	biscuits	bottled water;		
		10 crates of	1,300	13,000
		Coca-Cola;		
		20 packs of	2,000	40,000
		biscuits		

Branded vehicle	Cars and buses	3 Cars	Car @ 50,000	150,000
		4 Buses	Buses @	280,000
			70,000	·
Subtotal				1,362,000

4.8 Summary of Expenses

All Progressives Congress	87,247,950
Peoples Democratic Party	71,780,250
Social Democratic Party	7,871,500
Action Democratic Party	7,095,200

Chapter Five

BILLBOARD EXPENDITURE

5.1 Introduction

This Chapter gives a detailed report of the expenses incurred by the candidates on billboards. This includes expenditure on small boards mounted on street lights, electric poles and other such fixtures. It also includes banners hung at strategic places not related to rallies. However, it excludes the cost of special boards mounted at campaign and rally venues which have been documented under expenditures on rallies. However, the cost varies according to the size and quality of the billboards. The billboards are presented by local government location. Information on cost and number of billboards were obtained from enquires made directly from the production sources, advertising agencies and from the observation of monitors in each LGA.

5.2 All Progressives Congress

A. APC IDO OSI LGA

LOCATION	SIZE AND DESCRIPTION	QTY ¹³	UNIT COST	TOTAL
16.11.5	(FEET)			COST
Ifaki Road	6/4 wooden stand	2	5,800	11,600
Ifaki Road	6/12 iron stand	1	150,000	150,000
St Bridget Catholic Church	6/12 wooden stand	1	40,000	40,000
Ora Ekiti	6/4 wooden stand	4	5,800	23,200
Federal Teaching Hospital	6/12 iron stand	1	150,000	150,000
Federal Teaching Hospital	6/12 wooden stand	1	40,000	40,000
Ido Ekiti by Ekiti Parapo College	6/4 wooden stand	3	5,800	17,400
Ayetoro	6/4 wooden stand	6	5,800	34,800
APC office beside Total Filling Station Ayetoro	6/4 wood stand	3	5,800	17,400
Ayetoro Round About	6/4 wooden stand	1	5,800	5,800
Ayetoro Round About	6/4 wooden stand	1	5,800	5,800
Ayetoro Round About	6/4 wooden stand	1	5,800	5,800
Iku	6/4 wooden stand	1	5,800	5,800
Iku	6/4 wooden stand	1	5,800	5,800
Ayegbaju	3/6 attached to electric poles	20	2,500	50,000
Ifaki Ekiti	6/12 wooden stand	2	5,800	11,600
Ifaki Ekiti	6/12 iron stand	1	150,000	155,800
	6/4 wooden stand	1	5,800	·
Subtotal				730,800

¹³ Qty refers to quantity.

B. MOBA LGA

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			COST
Moba –Oto	10/20 iron stand (double)	1	300,000	300,000
Moba –Oto Road	6/4 wooden stand	5	5,800	29,000
Moba –Oto Road	6/4 wooden stand	1	5,800	5,800
Moba –Oto	6/12 iron stand (double)	1	200,000	200,000
Subtotal				534,800

C. ILEJEMEJE LGA

O. ILLULIVILUE LOA		_		
LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL COST
	(FEET)		COST	
Ijesha	6/12 wooden stand	4	40,000	160,000
Iye Ekiti	6/4 wooden stand	9	5,800	52,200
lye Ekiti	6/12 iron stand (double)	5	200,000	1,000,000
lye Ekiti	6/12 wooden stand	1	40,000	40,000
llogbun	6/4 wooden stand	4	5,800	23,200
llogbun	10/20 iron stand	1	250,000	250,000
Isan Ekiti	6/4 wooden stand	9	5,800	52,200
Isan Ekiti	6/12 iron stand	1	150,000	150,000
Isan Ekiti	6/12 wooden stand	8	40,000	320,000
Ijesha	6/12 wooden stand	4	40,000	160,000
Subtotal				2,207,600

D. OYE LOCAL GOVERNMENT AREA

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL
	(FEET)		COST	COST
Ayade Grammar	6/12 iron stand	2	150,000	300,000
School, Ayade-Ekiti				
Ayade Road	6/12 wooden stand	4	40,000	160,000
Ayade Road	6/4 wooden stand	3	5,800	17,400
Imojo-Ekiti	6/4 wooden stand	1	5,800	5,800
St Augustine	6/12 iron stand	3	150,000	450,000
Comprehensive				
School				
Oye Round About	6/12 wooden stand	4	40,000	160,000
Oye Round About	6/4 wooden stand	3	5,800	17,400
Subtotal				1,110,600

E. GBOYIN LOCAL GOVERNMENT AREA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
Along Federal	6/12 wooden stand	3	40,000	120,000
Polytechnic Road				
Ode	6/12 iron stand (double)	1	200,000	200,000
Subtotal				320,000

F. IKOLE LOCAL GOVERNMENT AREA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT	TOTAL
			COST	
Illupeju	6/12 wooden stand	2	40,000	80,000
Itapa junction	6/12 iron stand	2	150,000	300,000
Osin Ekiti beside	6/12 iron stand	1	150,000	150,000
St Andrews				
Primary School				
St Peter Catholic	6/20 iron stand	1	200,000	200,000
Church				
APC LGA	10/20 wooden stand	1	66,700	66,700
secretariat				
Methodist Church	6/4 standalone banner	3	5,800	17,400
,Ode Ayiedu				
ljesa-Isu	6/4 stand Alone banner	1	5,800	5,800
Subtotal				819,900

G. EKITI EAST LOCAL GOVERNMENT

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
After St John's Church Ilasa	6/12 wooden stand	2	40,000	80,000
After St John's Church Ilasa	3/6 stand alone banner	1	2,500	2,500
Umuo Ekiti Road	6/4 standalone banner	1	5,800	5,800
St Paul Anglican Church ljeero	6/4 standalone banner	2	5,800	11,600
Ojo Alaba Junction	6/12 iron stand	1	150,000	150,000
Kota Junction	6/12 iron stand	1	150,000	150,000
Subtotal				399,900

H. ADO EKITI LOCAL GOVERNMENT AREA

SIZE OF BILL BOARDS (FEET)	QTY	UNIT	TOTAL
		COST	COST
6/12 wooden stand	20	40,000	800,000
6/4 wooden stand	1	5,800	5,800
6/12 wooden stand (double)	1	80,000	80,000
6/12 wooden stand	2	40,000	80,000
3/6 attached to electric poles	1	2,500	2,500
6/12 wooden stand	3	40,000	120,000
6/4 wooden stand	1	5,800	5,800
3/6 stand alone banner attached to	1	2,500	2,500
electric poles			
	6/12 wooden stand 6/4 wooden stand 6/12 wooden stand (double) 6/12 wooden stand 3/6 attached to electric poles 6/12 wooden stand 6/4 wooden stand 3/6 stand alone banner attached to	6/12 wooden stand 20 6/4 wooden stand 1 6/12 wooden stand (double) 1 6/12 wooden stand 2 3/6 attached to electric poles 1 6/12 wooden stand 3 6/4 wooden stand 1 3/6 stand alone banner attached to 1	COST 6/12 wooden stand 20 40,000 6/4 wooden stand 1 5,800 6/12 wooden stand (double) 1 80,000 6/12 wooden stand 2 40,000 3/6 attached to electric poles 1 2,500 6/12 wooden stand 3 40,000 6/4 wooden stand 1 5,800 3/6 stand alone banner attached to 1 2,500

		1	I	1
Inyin Road, close	6/12 iron stand (double)	1	200,000	200,000
to Fajuyi Park				
Along Inyin Road	6/12 iron stand	2 Single	150,000	300,000
		And 1	200,000	200,000
		Double		
At the party office	6/12 wooden stand	1	40,000	40,000
Inyin Road				
At the party office	6/12 pasted on the wall	2	40,000	80,000
Inyin Road				
In front of the	6/12 (some pasted on the wall and	3	40,000	120,000
Deputy	some with wood stand)			
Governor's House				
at GRA				
In front of the	6/4 pasted on the wall fence and the	15	5,800	87,000
Deputy	compound			
Governor's House				
at GRA				
In front of the	3/6 pasted on the wall fence	2	2,500	5,000
Deputy				
Governor's House				
at GRA				
Subtotal				2,128,600

I. STREET LIGHT MOUNTED/ MOVABLE BILL BOARDS IN ADO EKITI

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL
	(FEET)		COST	COST
Federal	3/6 movable boards	6 single and	2,500	23,000
Polytechnic Road		1 double	8,000	
Ilawe Road	3/6 movable boards	11	2,500	27,500
Fajuyi/Ekiti State	6/4 movable boards	9 single and	5,800	84,200
University Road		4 double	8,000	
Subtotal				134,700

J. BILL BOARDS IN IKERE EKITI LOCAL GOVERNMENT AREA

LGA/LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			COST
Federal	3/6 movable boards	1	2,500	2,500
Polytechnic Road				
Ikere/Ado Road	6/12 wooden stand	2	40,000	80,000
Ikere/Ado Road	3/6 wooden stand	2	2,500	5,000
Subtotal				87,500

K. BILL BOARDS IN ISE/ORUN EKITI LOCAL GOVERNMENT AREA

LGA/LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			COST
Ise Junction	6/12 iron stand	2	150,000	300,000
Ise Junction	6/12 wooden stand	1	40,000	40,000
Palace Junction	6/12 double with iron stand	1	200,000	200,000
Palace Junction	6/12 wooden stand	1	40,000	40,000

Subtotal		580,000	

L. BILL BOARDS IN EMURE EKITI LOCAL GOVERNMENT AREA

LGA/LOCATION	SIZE AND (FEET)	DESCRIPTION	QTY	UNIT COST	TOTAL COST
Emure Junction	6/12 iron stand		1	150,000	150,000
Orija Jogun Square	6/12 iron stand		1	150,000	150,000
Subtotal					300,000

M. BILL BOARDS IN ILAWE EKITI SOUTH WEST LOCAL GOVERNMENT AREA

LGA/LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL
	(FEET)		COST	COST
Ilawe Sharp Corner	6/12 iron stand	1	150,000	150,000
Along Ilawe Road	6/12 iron stand	1	150,000	150,000
Along Ilawe Road	6/4 wooden stand	2	5,800	11,600
Subtotal				311,600

N. IREPEDUN/IFELODUN LOCAL GOVERNMENT

			ı	1
LGA/LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL
	(FEET)		COST	COST
Irepedun/Ekiti State	6/12 iron stand	2	150,000	300,000
University Junction				
Along Irepedun Road	6/12 iron stand	1 double	200,000	200,000
		with iron		
		stand and	40,000	200,000
		5 with		
		wood		
		stand		
Along Irepedun Road	6/12 wood stand	1	40,000	40,000
Along Irepedun/	6/3 movable boards	6 double	8,000	135,000
Ifelodun Road		and 15	5,800	
		single		
Along Irepedun Road	6/4 wood stand	1	5,800	5,800
Subtotal				880,800

O. EKITI WEST

LGA/LOCATION	SIZE AND DESCRIPTION	QTY	UNIT	TOTAL
	(FEET)		COST	COST
Aramoko Junction	6/12 iron stand	1	150,000	150,000
Along Aramoko Road	6/12 iron stand	4	150,000	600,000
Along Aramoko Road	6/12 wooden stand	2	40,000	80,000
Along Aramoko Road	6/3 movable boards mounted	2	5,800	11,600
_	on street lights			
Along Aramoko Road	3/6 wooden stand	1	2,500	2,500
Subtotal				844,100

P. IJERO LOCAL GOVERNMENT AREA

LOCAL GOVERNMENT	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
AREA/LOCATION	(FEET)			COST
Ijero Junction	6/12 iron stand	1	150,000	150,000
Palace Junction	6/12 pasted on the wall	4	40,000	160,000
	6/12 wooden stand	6	40,000	240,000
Subtotal				550,000

5.3 Peoples Democratic Party

A. IDO OSI LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	NOS	UNIT COST	TOTAL COST
Ifaki Road	6/3 wooden stand	3	5,800	17,400
Ifaki Road	6/12 iron stand (double)	1	200,000	200,000
St Bridget Catholic Church	6/12 wooden stand	1	40,000	40,000
Ora Ekiti	6/3 wooden stand	11	5,800	63,800
Federal Teaching Hospital	6/12 iron stand	1	150,000	150,000
Fed Teaching Hospital	6/12 wooden stand	2	40,000	80,000
Ido Ekiti by Ekiti Parapo College	6/3 wooden stand	2	5,800	11,600
Fed Teaching Hospital	3/6 fixed on electric poles	6	2,500	15,000
Ido Ekiti by Ekiti Parapo College	6/4 wooden stand	2	5,800	11,600
Ayetoro	6/4 wooden stand	4	5,800	23,200
PDP Office beside Total Filling Station Ayetoro	6/4 wooden stand	1	5,800	5,800
Ayetoro Round About	6/4 wooden stand	3	5,800	17,400
Ayetoro Round About	6/4 wooden stand	1	5,800	5,800
Ayetoro Round About	6/4 wooden stand	1	5,800	5,800
Iku	6/4 wooden stand	1	5,800	5,800
Iku	6/4 wooden stand	1	5,800	5,800
Ifaki Ekiti	6/12 wooden stand	3	40,000	120,000
Ifaki Ekiti	6/12 iron stand	1	150,000	155,800
	6/4 wooden stand	1	5,800	
Subtotal				934,800

B. MOBA LGA

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			COST
Moba –Oto Road	6/12 wooden stand	1	40,000	40,000
Moba –Oto Road	6/4 wooden stand	1	5,800	5,800
Subtotal				45,800

C. ILEJEMEJE LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
Ijesha	6/12 wooden stand	1	40,000	40,000
lye-Ekiti	6/4 wooden stand	1	5,800	5,800
llogbun	6/4 wooden stand	3	5,800	17,400
Subtotal				63,200

D. OYE LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Ayade Grammar School, Ayade- Ekiti	6/12 wooden stand	1	40,000	40,000
Ayade Road	6/4 wooden stand	1	5,800	5,800
St Augustine Comprehensive School	6/12 iron stand	3	150,000	450,000
Oye Round About	6/4 wooden stand	8	5,800	46,400
Subtotal				542,200

E. GBOYIN LGA

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			
Along Federal	10/20 Wooden stand	1	66,700	66,700
Polytechnic Road				
Along Federal	6/12 wooden stand	3	40,000	120,000
Polytechnic Road				
IjahEkiti	6/4 wooden stand	1	5,800	5,800
Asebgu	6/12 wooden stand	1	40,000	40,000
Agbado	6/4 wooden stand	1	5,800	5,800
Ode	6/12 iron stand (double)	1	200,000	200,000
Ode	6/12 wooden stand	2	40,000	80,000
Subtotal				518,300

F. IKOLE LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Illupeju	6/12 wooden stand	2	40,000	80,000
Itapa junction	6/12 iron stand	1	150,000	150,000
Osin Ekiti beside St. Andrews Primary School	10/20 iron stand	1	250,000	250,000
Osin Ekiti beside St. Andrews Primary School	6/12 iron stand	1	150,000	150,000
Ikole LGA Secretariat	6/20 iron stand	3	200,000	600,000
Ikole LGA Secretariat by	6/6 moveable bill boards attached to electricity poles	60	6,400	384,000

Total Filing Station				
junction				
Ikole LGA	6/4 wooden stand	3	5,800	17,400
Secretariat by				
Total Filing Station				
junction				
Esiomo	6/4 banner	2	5,800	11,600
St Mary Anglican	10/20 iron stand (double)	1	300,000	300,000
Girls Grammar	, ,			
School				
Okeorin junction	6/4 banner	2	5,800	11,600
Shell Junction near	6/12 wooden stand	2	40,000	80,000
Conoil Filing				·
Station				
Shell Junction near	6/4 banner	4	5,800	23,200
Conoil Filing				
Station				
Isaba	6/4 banner	2	5,800	11,600
PDP ward	6/20 iron stand	1	200,000	200,000
Secretariat beside				
Elakole Palace				
PDP ward	6/12 wood stand	2	40,000	80,000
Secretariat beside				
Elakole Palace				
Along Okejepe	6/12 iron stand	1	150,000	150,000
Queen School road				
Federal	6/12 iron stand (double)	1	200,000	200,000
Government				
College Junction				
Federal	6/12 iron stand	1	150,000	150,000
Government				
College Junction				
Ayiedun PDP office	6/4 banner	2	5,800	11,600
Ayebode Market	6/4 banner	3	5,800	17,400
Ikuneri after NNPC	6/12 iron stand	3	150,000	450,000
Filling Station				
before SMJ Hotels				
ljesa-Isu	6/6 banners attached on electricity	50	6,400	320,000
	poles			
ljesa-Isu	6/4 banner	3	5,800	17,400
Total				3,665,800

G. EKITI EAST LOCAL GOVERNMENT

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT	TOTAL
			COST	COST
J.O Awodomila	6/4 wooden stand	1	5,800	5,800
Filing Station Ilasa				
Ikun	6/12 iron stand (double)	1	200,000	200,000

St Luke Anglican School	6/12 iron stand (double)	1	200,000	200,000
Kota	6/12 iron stand	1	150,000	150,000
Omuo	6/12 wooden stand	2	40,000	80,000
Comprehensive	6/4 banner	2	5,800	11,600
High School				
Umuo-Ekiti Road	6/4 banner	4	5,800	23,200
Obadori Road	6/6 banner attached to street lights	40	6,400	256,000
Iworo Junction	6/4 banner	2	5,800	11,600
St Paul Anglican Church Ijeero	6/4 banner	2	5,800	11,600
PDP Office Araromi, Abuja Road	6/12 wooden stand	2	40,000	80,000
PDP Office, Araromi Abuja Road	6/4 stand alone banner	5	5,800	29,000
Omuoke before and after the military check point	10/20 iron stand single	2	250,000	500,000
Omuooke before and after the military check point	6/3 stand alone banner	1	5,800	5,800
Omuooke Abuja Road	3/6 boards attached to electricity poles	50	2,500	125,000
In front of Umuooke Police station	10/20 iron stand	2	250,000	500,000
Subtotal				2,189,600

H. ADO EKITI

LGA/LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Along	6/12 wooden stand	11 Single	40,000	440,000
Ikere/Ajilosun		and 1		
Area and in front		Double	80,000	80,000
of Party				
Secretariat				
Along	3/6 wooden stand	2	2,500	5,000
Ikere/Ajilosun				
Area and in front				
of Party				
Secretariat				
Ado Ekiti/Ajilosun	6/12 wooden stand	1	40,000	40,000
Area				
Federal	6/12 wooden stand	1	40,000	40,000
Polytechnic Road				
Federal	6/12 wooden stand (double)	1	80,000	80,000
Polytechnic Road				

Federal	3/6 wooden stand	2	2,500	5,000
Polytechnic Road				
Fajuyi/Ekiti State	6/12 wooden stand	5	40,000	200,000
University Road				
Fajuyi/Ekiti State	6/12 Panel Billboard with Light	1	200,000	200,000
University Road				
Fajuyi/Ekiti State	3/6 wooden stand	2	2,500	5,000
University Road				
Ilawe Road	6/12 iron stand	3	150,000	450,000
Ilawe Road	6/12 wooden stand	1	40,000	40,000
Afao Road	3/6 wooden stand	2	2,500	5,000
Inyin Road	6/12 iron stand	1	150,000	150,000
In front of	6/12 iron stand	1	150,000	150,000
Government				
House Ado Ekiti				
In front of	6/12 wooden stand	1	40,000	40,000
Government				
House Ado Ekiti				
In front of	3/6 wooden stand	1	2,500	2,500
Government				
House Ado Ekiti				
In front of	6/12 with iron stand, light and	1	200,000	200,000
Government	automatic change facility			
House Ado Ekiti				
Subtotal				2,132,500

I. STREET LIGHT MOUNTED/ MOVABLE BILL BOARDS IN ADO EKITI

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Federal	6/3 movable boards	6 double	5,800	34,800
Polytechnic Road				
Ilawe Road	6/3 movable boards	7	5,800	40,600
Fajuyi/Ekiti State	6/3 movable boards	26 single	5,800	262,800
University Road		and	8,000	
		14		
		double		
Inyin Road	6/3 movable boards	4	5,800	23,200
Ikere/Ajilosun	6/3 movable boards	23 single	5,800	349,400
Road		and 27	8,000	
		double		
Subtotal				710,800

J. IKERE EKITI LGA

LOCAL GOVERNMENT AREA/LOCATIO N	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Ikere/Ado Road	6/12 wooden stand	3	40,000	120,000
Ikere/Ado Road	6/12 wooden stand	2	40,000	80,000

Ikere/Ado Road	3/6 wooden stand	3	2,500	7,500
Federal College	6/12 wooden stand	3	40,000	120,000
of Education				
Road				
Akure Road	6/12 wooden stand	2	40,000	80,000
Ikere/Ise Road	3/6 wooden stand	2	2,500	5,000
Subtotal				412,500

K. STREET LIGHT MOUNTED/ MOVABLE BILL BOARDS IN IKERE EKITI

LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	
	(FEET)			COST
Ikere/Ado Road	6/3 movable boards	88	8,000	704,000
		(double)		
Akure Road	6/3 movable boards	18	8,000	144,000
		(double)		
Subtotal				848,000

L. EMURE LGA

			1	
LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET)			COST
Emure Junction	6/12 iron stand	1	150,000	150,000
Orija Jogun	10/20 iron stand	1	250,000	250,000
Square				
Subtotal				400,000

M. BILL BOARDS IN ILAWE EKITI SOUTH WEST LGA

LGA/LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Ilawe Sharp Corner	6/12 iron stand	3	150,000	450,000
After Ilawe Sharp Corner	6/12 iron stand	1	150,000	150,000
Along The Road	3/6 wooden stand placed close to street light	2	2,500	5,000
Subtotal				605,000

N. STREET LIGHT MOUNTED/ MOVABLE BILL BOARDS IN ILAWE EKITI SOUTH WEST

11. CTILLET LIGHT MIGGITTED, MIG VILDE BILL BOTTLES IN ILL WE LIGHT GOOTH WEST					
LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL	
				COST	
Along Ilawe Road	6/3 movable boards	12	8,000	96,000	
		(double)			
Subtotal				96,000	

O. IREPEDUN/IFELODUN LOCAL GOVERNMENT

LOCAL GOVERNMENT AREA/LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Irepodun/Ekiti State University Junction	6/12 iron stand	2	150,000	300,000

Irepodun/Ekiti State	6/12 iron stand	2	150,000	300,000
University Junction				
Along the Road	6/12 wooden stand	6	40,000	240,000
Along Irepodun/	6/3 movable boards	4 double	8,000	32,000
Ifelodun Road				
Along Irepodun/	6/3 movable boards	11 single	5,800	63,800
Ifelodun Road				
Subtotal				935,800

P. EKITI WEST LGA

LOCAL	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL		
GOVERNMENT	(FEET)			COST		
AREA/LOCATION						
Aramoko Junction	6/12 iron stand	2	150,000	300,000		
Along Aramoko	6/12 wooden stand	1	40,000	40,000		
Road	3/6 movable board mounted on	1	2,500	2,500		
	the street light					
Subtotal				342,500		

Q. IJERO LOCAL GOVERNMENT AREA

LOCAL	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL
GOVERNMENT	(FEET)			COST
AREA/LOCATION				
Ijero Junction	6/12 iron stand	2	150,000	300,000
Ijero Junction	6/12 iron stand	2	150,000	300,000
Palace Junction	6/12 iron stand	1	150,000	150,000
Palace Junction	6/12 pasted on the wall	1	40,000	40,000
Subtotal				790,000

5.4 Social Democratic Party

A. GBOYIN LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Along Federal Polytechnic Road	10/20 wooden stand	1	66,700	66,700
Subtotal				66,700

B. IKOLE LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL COST
Osin Ekiti beside St. Andrews Primary School		1	250,000	250,000
Ikole LGA Secretariat by	6/6 bill board attached to electricity poles	60	6,400	384,000

Total Station jun	Filling				
St Anglican	Mary Girls	6/12 iron stand (double)	1	200,000	200,000
Grammar School					
ljesa-Isu		3/6 banners attached on electricity poles	50	2,500	125,000
Subtotal					959,000

C. EKITI EAST LGA

LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
Obadori Road	3/6 banners attached to street lights	40	2,500	100,000
In front of Umuooke Police station	6/12 iron stand	1	150,000	150,000
Subtotal				250,000

D. ADO EKITI LGA

LGA/LOCATION	SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
Ado Ekiti/	6/12 wooden stand	1	40,000	40,000
Ajilosun Area				
Fajuyi/Ekiti State	6/12 wood stand	2	40,000	80,000
University				
Ilawe Road	6/12 wood stand	1	40,000	40,000
Subtotal				160,000

E. BILL BOARDS IN ILAWE EKITI SOUTH WEST LGA

LGA/LOCATION		SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL
llawe	Sharp	6/12 iron stand	2	150,000	300,000
Corner					
Subtotal					300,000

F. STREET LIGHT MOUNTED/ MOVABLE BILL BOARDS IN ILAWE EKITI SOUTH WEST

F. STREET LIGHT WOUNTED/ WOVABLE BILL BOARDS IN ILAWE ERITI SOUTH WEST								
LOCATION		SIZE AND DESCRIPTION (FEET)	QTY	UNIT COST	TOTAL			
					COST			
Along	llawe	6/3 movable boards	11	8,000	88,000			
Road			(double)					
Subtotal	•				88,000			

5.5 Action Democratic Party

A. BILLBOARD IN IJERO LGA

71. BIEEBOTTO ITTIOETO EST								
LOCATION	SIZE AND DESCRIPTION	QTY	UNIT COST	TOTAL IN				
	(FEET)		IN (N)	(N)				
Ijero Junction	6/12with iron stand	2	150,000	300,000				
Subtotal				300,000				

B. BILLBOARD IN IDO/OSI LGA

LOCATION	SIZE	AND	DESCRIPTION	QTY	UNIT COST	TOTAL
	(FEET))				COST
Ipere Junction	6/12 wooden billboard			1	40,000	40,000

5.6 Summary of Expenses

All Progressives Congress	11,940,900
Peoples Democratic Party	15,232,800
Social Democratic Party	1,598,700
Action Democratic Party	340,000

Chapter Six

ELECTRONIC AND PRINT MEDIA EXPENSES

6.1 Introduction

This Chapter records the electronic media expenses of the candidates on radio and television coverage, jingles, advertisements and documentaries. It also records print media expenses. It is imperative to state that this is not a complete record of all the expenses. It is the expenses that could be verified and documented by the project considering that the electronic media operates round the clock. The project obtained the advertisement price lists and possible discounts from media houses. The details are as stated hereunder.

6.2 Live Electronic Media Coverage of Campaigns

A. All Progressives Congress: Live Coverage of Campaigns

CAMPAIGN VENUE	DATE	DURATION	MEDIA	UNIT COST	TOTAL
			HOUSE	IN NAIRA	COST IN
				PER HOUR	NAIRA
APC flag off rally in Ado Ekiti in	19/6/	2 hours	Channels	5,000,000	10,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
APC flag off rally in Ado Ekiti in	19/6/	2 hours	TVC	5,000,000	10,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
APC flag off rally in Ado Ekiti in	19/6/	2 hours	NTA	4,500,000	9,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
APC mega rally at Ado Ekiti in	10/7/	2 hours	Channels	5,000,000	10,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
APC mega rally at Ado Ekiti in	10/7/	2 hours	TVC	5,000,000	10,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
APC mega rally at Ado Ekiti in	10/7/	2 hours	NTA	4,500,000	9,000,000
Ekiti State held at Olukoyede	2018				
Stadium					
Subtotal					58,000,000

B. Peoples Democratic Party: Live Coverage of Campaigns

zi i depide zameti andi ziro de rerage er dampangne							
CAMPAIGN VENUE	DATE	DURATION	MEDIA	UNIT COST	TOTAL		
			HOUSE	IN NAIRA	COST IN		
				PER HOUR	NAIRA		
PDP flag off rally At Ado Ekiti in	18/6/2018	2hours	Channels	5,000,000			
Ekiti State held at Fayose					10,000,000		
Bridge (Square)							

PDP mega rally at Ado Ekiti in Ekiti State held at Fayose Bridge (Square)	18/6/2018	2hours	AIT	5,000,000	10,000,000
PDP mega rally at Ado Ekiti in Ekiti State held at Fayose Bridge (Square)	18/6/2018	2hours	TVC	5,000,000	10,000,000
PDP mega rally at ado Ekiti in Ekiti State held at Fayose Bridge (Square and Fayose Pavilion)	5 [™] July 2018	2hours	Channels	5,000,000	10,000,000
PDP mega rally at Ado Ekiti in Ekiti State held at Fayose Bridge (Square and Fayose Pavilion)	5 [™] July 2018	2hours	AIT	5,000,000	10,000,000
PDP mega rally at Ado Ekiti in Ekiti State held at Fayose Bridge (Square and Fayose Pavilion)	5 [™] July 2018	2hours	TVC	5,000,000	10,000,000
PDP okada riders and drivers meeting with the governor at Government House Ado-Ekiti	10 th July 2018	2hours	AIT	5,000,000	10,000,000
PDP victory rally at Ado Ekiti but was disrupted by the police	11 th July 2018	1hour	AIT	5,000,000	5,000,000
Total					75,000,000

6.3 Electronic Media Adverts on Radio and Television

A. All Progressive Congress

7 ii 7 iii 1 Togi oooitto oonigi					
MEDIA HOUSE	NATURE	DATE	SLOTS	UNIT	TOTAL
				COST	COST
Radio Nigeria Progress	Campaign jingles	May, 2018	92 slots of 1	6,000	552,000
FM Ado-Ekiti	1 0 7 0	,	minute each	,	,
Progress FM Ado-Ekiti	Advert sponsored	June 2018	32 slots	6,000	192,000
	by various support				
	groups				
Voice FM 89.9	Adverts/Jingle	1st June-			
		25th June	226 slots	6,000	1,356,000
Voice FM 89.9	News Stories	1st June-			
		25th June	16 slots	25,000	400,000
Voice FM 89.9	Special Feature:	1st June-			
	one hour special	25th June			
	feature/ talk on the				
	radio station		1 slot	100,000	100,000
Voice FM 89.9	Adverts/Jingles	25th June –			1,530,000
		10 th July	255 slots	6,000	
Voice FM 89.9	News Stories	25th June -			1,775,000
		10 th July	71	25,000	·
Subtotal					5,905,000

B. Peoples Democratic Party: Adverts on Radio and Television

B. Peoples Democ	ratic Party: Adverts on Ra	idio and Telev	ISION		
MEDIA HOUSE	EXPENDITURE HEAD	DATE	SLOTS	UNIT	TOTAL
				COST	COST
Radio Nigeria	Campaign jingles	May, 2018	9 slots of 1	6,000	54,000
Progress FM			minutes		
Ado-Ekiti			each		
Radio Nigeria	Advert sponsored by	June, 2018	32 slots	6,000	192,000
Progress FM	various groups				
Ado-Ekiti					
Voice FM 89.9	News story	1 st June to			
		25 th June	10	25,000	250,000
Voice FM 89.9	News Stories	25th June -			425000
		13th July	17	25,000	
BSES Radio	Mid-Day-News	3 rd June	1 slot	10,000	10,000
	12.00noon		1 5101		
BSES Radio	Major News 5:30p.m	4 th June	1 slot	10, 000	10,000
BSES Radio	Programmes (3)	5 th June	9 minutes	5000 per	45,000
			programme	minute	
BSES Radio	Wife of the Ekiti State	6th - 25th			
	Governor campaign	June	6 slots	20,000	120,000
	message	Julie			
BSES Radio	PDP Ondo State	6th - 25th	15 slots	10,000	150,000
	campaign talk	June	13 81018	10,000	150,000
BSES Radio		6th - 25th	19 slots	10,000	190,000
	Mid-day news	June	19 51015	10,000	190,000
BSES Radio	Major news		38 slots	10,000	380,000
BSES Radio	News update morning	6th - 25th			
	and evening both in		38 slots	10,000	380,000
	English and Yoruba	June			
BSES Radio		6th - 25th	29 cloto		
	Advert jingle	June	38 slots	5,000	190,000
Subtotal					2,386,000

C. Social Democratic Party: Adverts on Radio and Television

	raity. Advoits on Madic				
MEDIA HOUSE	EXPENDITURE HEAD	DATE	SLOTS	UNIT	TOTAL
				COST	COST
Radio Nigeria	Campaign jingles	May, 2018	10 slots of	6,000	60,000
Progress FM Ado-			1 minutes		
Ekiti			each		
Radio Nigeria	Advert sponsored by	June 2018	25 slots	6,000	150,000
Progress FM Ado-	various supporters				
Ekiti	group				
Voice FM 89.9	News stories	1st June -			
		June 25 th	5 slots	10,000	50,000
Voice FM 89.9	One hour special	1st June -			
	feature/talk on the radio	June 25 th			
	station		1	100,000	100,000
Voice FM 89.9	Advert/Jingle				
	1 minute jingle of the	7th June -			
	candidate	10th June	9	6,000	54,000

Subtotal			414.0	000
O G D L C L G L				

D. Action Democratic Party: Adverts on Radio and Television

MEDIA HOUSE	EXPENDITURE HEAD	DATE	SLOTS	UNIT	TOTAL
				COST	COST
Voice FM 89.9	Campaign jingles	1st June-			
		25th June	6	6,000	36,000
Voice FM 89.9	Special Feature	June			
	30 minutes talk on the				
	radio station		4	50,000	200,000
Subtotal					236,000

6.4 Print Media Expenses

A. All Progressive Congress Print Media Expenses

NEWSP		DATE	SIZE/TYPE	UNIT COST	TOTAL COST
New I Newspaper	Democrat	Vol. 5 No 7 of June	1 front Cover page	350,000	350,000
	Democrat	Vol. 5 No 7 of June	4 full pages	250,000	1,000,000
	Democrat	Vol. 5 No 7 of June	I half page	130,000	130,000
	Democrat	Vol. 5 No 7 of June	I photo news	20,000	20,000
	Democrat	Vol. 5 No 7 of June	1 centre spread	500,000	500,000
	Democrat	Vol.5No 6 May 2018	1 Bottom strip	100,000	100,000
	Democrat	Vol.5No 6 May 2018	8 photo news	20,000	160,000
	Democrat	Vol.5No 6 May 2018	4 full pages	250,000	1,000,000
Fountain Breaker	News	May 18-June 18 2018	1 cover page	100,000	100,000
Fountain Breaker	News	May 18-June 18 2018	5 Photo news	20,000	100,000
Subtotal					3,460,000

6.5 Summary of Expenses

A. Campaign Live Coverage Expenditure

All Progressives Congress	58,000,000
Peoples Democratic Party	75,000,000
Social Democratic Party	-
Action Democratic Party	-

B. Electronic Media Advert Expenditure

All Progressives Congress	5,905,000
Peoples Democratic Party	2,386,000
Social Democratic Party	414,000
Action Democratic Party	236,000

C. Print Media Expenses

All Progressives Congress	3,460,000
Peoples Democratic Party	-
Social Democratic Party	-
Action Democratic Party	-

D. Final Expenses Table for the Chapter

All Progressives Congress	67,365,000
Peoples Democratic Party	77,386,000
Social Democratic Party	414,000
Action Democratic Party	236,000

Chapter Seven

VOTE BUYING

7.1 Introduction

Vote buying was rampant in the Ekiti State gubernatorial election. It was done with impunity in the presence of security personnel. Both APC and PDP were culprits of vote buying. The amount of money a candidate was able to give, to an extent, determined the number of votes he got. The details of how the candidates induced voters with money as witnessed and verified by our monitors are stated below. However, the incidents captured in the report were those witnessed by our monitors. Definitely, there were other cases of inducement not captured in this report because our monitors were limited in number.

7.2 Details of Vote Buying

A. Details of APC Vote Buying in Ekiti State

The expenses reported under this head were the ones confirmed by our monitors on Election Day. However, there were reports that the APC candidate distributed N150 million to each of the 16 local governments in the state on the eve of the election for the sole purpose of buying votes. If this is taken into consideration, one can conclude that the APC candidate spent N2.4 billion in buying votes on Election Day.

The following details were recorded in Ekiti East LGA.

(i) Vote Buying on Election Day in Ekiti East LGA

Ward	Polling Units	Money
		Distributed
1	8	12,000,000
2	10	14,000,0000
3	7	10,000,000
4	8	11,000,000
5	6	9,000,000
6	7	10,000,000
7	7	11,000,000
8	7	12,000,000
9	10	13,500,000
10	8	9,000,000
11	10	13,000,000
12	5	7,000,000
Subtotal		131,500,000

(ii) Ekiti South-West Local Government 14th July, 2018

Expenditure Head	Description	Quantity	Unit Cost	Total Cost	
	Vote buying and selling was observed in different		10,000	95,000,000	
the election	polling units at the rate				
	10,000				
Subtotal				95,000,000	

(iii) Ekiti South-West Local Government 14th July, 2018

Expenditure Head	Description	Quantity	Unit Cost	Total Cost
Vote buying, a day to	Vote buying and selling was	9,500	5,000	47,500,000
the election and	observed in different polling			
during the election	units at the rate of N5,000			
Subtotal				47,500,000

(iv) Ilawe-Ekiti in Ekiti South West LGA

(IV) Hawe-Ekiti III Ekiti Godili West EGA					
Expenditure Head	Description		Unit		
		Quantity	Cost	Total Cost	
Vote buying, a day to					
the election and	10,000 was distributed to early voters	1,000	10,000	10,000,000	
during the election					
	7,000 was given to mid-day voters	3,500	7,000	24,500,000	
	5,000 was given to late voters	5,000	5,000	25,000,000	
Subtotal					
				59,500,000	

(v) Gbonyin Local Government Area

	(1) Chair a count a co									
Expe	nditure	Description		Quantity	Unit	Total Cost				
He	ead							-	Cost	
Vote	buying	150	supporters	of	the	party	were	9,410	5,000	47,050,000
during e	lection	mobi	mobilized on election day in each town to			own to				
		pay t	pay the electorate in the local government			nment				

(vi) Ifelodum/Irepodun Local Government Area

Expenditure	Description	Quantity	Unit Cost	Total Cost	
Head					
Vote buying	The sum of 2,000,000 was given to	165 units	2,000,000	330,000,000	
during election	each poling unit in the local				
	government while each voter was				
	given 5,000.				

The ADP deputy governorship candidate was induced with the sum of N5m to decamp to APC few days to the election. This act made the APC to have an edge at Ifelodun/Irepodun LGA on Election Day.

(vii) Expenses at Ido/Osi

A night to the election, a reliable source confirmed that a sum of N150m was brought to the local government for the purpose of the election. This money was shared among the 108 polling units in the local government according to voting strength. On the Election Day, APC distributed N5,000 to whoever voted for the party.

Expenditure	Description	Unit Cost	Total Cost
Distribution of rice	1,700 bags of 5kg of rice is shared within the Local Government	1,200	2, 040, 000
Buying of votes	Sharing of money to 15,000 persons	5,000	75, 000, 000
Subtotal			77,040,000

(viii) Ise/Orun LGA

Expenditure	Description	Quantity	Unit Cost	Total Cost
Vote buying	Money given to APC supporters to vote for the party in the local government	1	150,000,000	150,000,000
Subtotal				150,000,000

B. Details of PDP Vote Buying in Ekiti State

(i) Money Distributed on Election Day 14 July, 2018 Ise/Orun

	(1)	,		
Expenditure	Description	Quantity	Unit Cost	Total Cost
Vote Buying	Money given to PDP supporters to vote for the party	1	150,000,000	150,000,000
Subtotal				150,000,000

(ii) Ido/Osi LGA

Expenditure	Description	Quantity	Unit Cost	Total Cost
Vote buying	Sharing of money to about thirteen thousand voters across the Local Government on election day		5,000	65, 000, 000
Subtotal				65,000,000

(iii) Vote Buving at Ilawe-Ekiti

()	o Baying at name Emit			
Expenditure Head	Description		Unit	
		Quantity	Cost	Total Cost
	3,000 was distributed			
during the election day	in some wards	4000	3000	12,000,000
Electorate vote buying a day to the	2,000 was distributed			
election and during the election	in some wards	1500	2000	3,000,000
Subtotal				15,000,000

(iv) Vote Buying at Gbonyin LGA on Election Day

Expenditure	Description	Quantity	Unit	Total Cost
Head			Cost	
Vote buying during election	200 supporters of the party were mobilized on election day in each town to disburse the funds to the electorate in the local government and about 6,730 people were given 4000 to vote for PDP candidate.	6,730	4000	26,920,000
Subtotal				26,920,000

(v) Vote Buying at Ifelodun/Irepodun LGA

(1) toto Daying at notonaliti openani Dort					
Expenditure Head	Description	Quantity	Unit Cost	Total Cost	
Vote buying	The sum of 1,600,000 was given to each poling unit in the local government and each voter was given 4000		1,600,000	264,000,000	
Subtotal				264,000,000	

(vi) Vote Buying at Ekiti East LGA

Ward	Units	Monov
vvaru	Ullits	Money
1	8	9,000,000
2	10	12,000,000
3	7	8,000,000
4	8	9,000,000
5	6	6,000,000
6	7	8,000,000
7	7	10,000,000
8	7	8,000,000
9	10	12,000,000
10	8	8,000,000
11	10	14,000,000
12	5	5,000,000
Subtotal		109,000,000

(vii) Vote Buying at Moba LGA on 14TH July 2018

(vii) vote Baying at mosa 20% on 11 vary 2010					
Expenditure Head	Description	Quantity	Unit Cost	Total	
Vote buying	About thirteen thousand persons were give a sum of N4,000 each	13,000	4,000	52,000,000	

7.3 Summary of Expenses

All Progressives Congress	937,590,000
Peoples Democratic Party	681,920,000
Social Democratic Party	-
Action Democratic Party	-

Chapter Eight

CONCLUSIONS AND RECOMMENDATIONS

8.1 Overall Spending

The total expenditure of candidates captured in this report is presented below. However, it is clear that the candidates spent more than the figures captured in this report. The campaign finance space is still opaque and there are many transactions that can only be known if the persons who spent the resources disclose same. Otherwise, they are matters peculiarly within the knowledge of the candidates and their agents and cannot in any way be captured by a third party.

Campaign Expenses	ADP N	APC N	SDP N	PDP N
State Administrative Resources		10,220,000		1,300,000
Campaign and Rallies	7,095,200	87,247,950	7,871,500	71,780,250
Billboards	340,000	11,940,900	1,598,700	15,232,800
Electronic media live coverage,	236,000	67,365,000	414,000	77,386,000
electronic media adverts and				
print media expenses				
Vote Buying		937,590,000		681,920,000
Total	7,671,200	1,114,363,850	9,884,200	847,619,050

8.2 Conclusions

The 2018 Ekiti gubernatorial election was a straight contest between the APC and PDP. So much was at stake for each party and a lot of resources were dedicated to the election. The two parties campaigned aggressively and deployed SAR. Their candidates exceeded the financial ceiling provided in the Electoral Act. APC and PDP indulged in vote buying and bought votes in the open, where citizens captured the vote buying exercise with their cameras and mobile phones. It is on record that only the parties occupying federal and state executive positions (APC and PDP) were able to make a mark with their campaigns and this is based on the quantum of resources available to the two parties. It may be safe to reach a conclusion that public resources or resources derived from the management of public offices played a key role in the election.

The present monitoring intervention is a civil society effort and not an official intervention by the regulatory body, INEC. It is imperative that in the future, starting from the 2019 elections, INEC dedicates more time and resources to campaign finance issues and to convene a Political Finance Monitoring Group comprising of state and non-state actors to monitor and track campaign expenses and the use of SAR.

The flaws identified in the Electoral Act and other enabling laws and regulations remained and posed a challenge to the credibility of the election. There was no paper or banking trail on candidates' expenses; neither was there a ceiling on how much an individual could give to a political party. Also, there was no limit on how much a party could spend to get its candidate elected into office and this paves the way for possible transfer of funds from the candidate to the party, to spend on his behalf once the candidate hits or is about to hit the expenditure ceiling. The ceilings are still not based on empirical evidence. The penalties for spending beyond the ceiling remained weak even though there was no enforcement of the law. Citizens still cannot get tax rebates for supporting candidates and the political parties. Tracking media expenditure is still a difficult assignment as there is no legal obligation on media houses and the media regulatory agency to provide information on the actual amount of expenses incurred by the candidates for their media exposure.

8.3 Recommendations

8.3.1: To the National Assembly

- (i) The ceiling on expenditure for candidates across board should be upwardly reviewed. This is based on observed and necessary expenses needed to mount a viable campaign.
- (ii) The ceilings should be based on empirical evidence including the number of voters to be reached, land area, cost of media, transport, venues and other reasonable expenses needed to mount a reasonable campaign. Essentially, INEC should work out reasonable campaign finance costs needed to run a good campaign as a basis for fixing the ceiling.
- (iii) The reviewed sums should not be contained in the body of the Electoral Act. Rather, the Act should be amended and the power to determine the ceiling across all the elections given to INEC. This power will be exercised from time to time based on changes in the economy after consultation with relevant stakeholders and the public. The stakeholders will include the political parties, campaign organisations, Bureau of Statistics, Ministry of Finance and Central Bank of Nigeria, security agencies and civil society working in the field of elections.
- (iv) The reviewed ceilings should be universal and cover all expenses from the candidate and the political party from the expression of interest, nomination, campaigns and the election.
- (v) Third party expenditure for candidates should also be categorically guided by the expenditure ceiling on individual donations to candidates.
- (vi) The Electoral Act should be amended to include the concept of permissible donor which categorically defines the persons permitted and barred from making contributions to candidates and political parties.

- (vii) Penalties for spending in excess of the ceiling should be increased to not less than a fine of 50 per cent of the value of the excess expenditure and the terms of imprisonment should be increased to not less than 2 calendar years. The punishment should also include debarment from participation in politics for a period of not less than 2 years.
- (ix) Political parties and candidates should be under a legal obligation to open dedicated bank accounts for the receipt of all campaign income and payment for expenditure, so as to provide a paper and banking trail for audit and reporting purposes.
- (x) The establishment of a Political Finance Monitoring Group should be done by either an amendment of the Electoral Act or through a special and new legislation.
- (xi) INEC should be specifically strengthened through an enabling legislation with proactive powers to inter alia:
 - Seize funds deployed in contravention of the law and guidelines;
 - Demand and receive from candidates and parties the market value of state resources such as cars and aircrafts deployed to campaigns;
 - Issue cease orders to such unlawful organisations such as the Transformation Ambassadors of Nigeria who violate the law with impunity;
 - Issue cease orders to candidates and political parties who continue to violate the law and guidelines;
 - In extreme cases of serial contraventions, to disqualify candidates and parties who violate laid down regulations;
 - Generally to enforce campaign finance and SARs provisions of the law.
- (xii) Contributions to political parties and candidates should be made tax deductible up to the maximum allowed for individuals so that Nigerians can get tax credits and be encouraged to contribute to campaign financing to avoid the hijack of politics and governance by godfathers.
- (xiii) Restore state funding of political parties; but access to the fund and disbursements should be based on party performance at the polls, a minimum threshold of votes or elected offices which a party must satisfy, the revenue of the party including fees and dues of members, donations received, etc.
- (xiv) Proper definition of campaign expenditure should include expenditure made before the notice of poll. It should include all expenditure by the candidate and political party targeted at enhancing the chances of the candidate to win the election.
- (xv) Print and electronic media houses should be under obligation to report the cost of all campaign advertisements to INEC, the National Broadcasting Corporation and print media regulatory body.

- (xvi) It is imperative that the Electoral Offences Commission recommended by the Justice Uwais Electoral Reform Committee be set up to inter alia exercise jurisdiction over violations of campaign finance laws.
- (xvii) SAR should be allotted to political parties during electioneering campaigns and this should include public media houses allotting free airtime and space to all political parties to air their views. This will improve their reach to the electorate. Further, public facilities such as public halls and stadia could be made available, free of charge to political parties in rotation during the campaign period.

8.3.2: To INEC

- (i) As an interim measure and pending when a law establishes the Political Finance Monitoring Group, INEC should by regulations proceed to establish the Political Finance Monitoring Group so that all stakeholders will be on board with their competencies for the enforcement of political finance laws.
- (ii) INEC should devise an external complaints mechanism that allows stakeholders file complaints of violations of campaign finance laws and regulations directly to it.
- (iii) Costs of forms and expression of interest to contest should be regulated by INEC Guidelines INEC using its powers under S.153 of the Electoral Act. These regulated sums should be tokens for the processing of the applications.
- (iv) INEC in consultation with the political parties and stakeholders should delimit the amount of money an individual or organisation can donate to a political party.
- (v) The Guidelines requiring candidate's reporting of their campaign expenditure should provide for cash, paper and banking trail which would facilitate reporting by candidates and monitoring by INEC to determine the accuracy of the candidate's reports. All campaign income should be domiciled in a specific account, of which its details will be given to INEC within 7 days of the emergence of the candidate. All campaign expenses in excess of a minimal threshold, as INEC may determine from time to time, should also be made from the same account by cheque and bank transfers.

8.3.3: To Political Parties

- (i) Take steps including capacity building for relevant staff to ensure full compliance with extant provisions of the law, guidelines and rules of INEC.
- (ii) Reform campaign finance rules to ensure that all party members begin to subscribe and pay membership dues and levies and reorganize the party secretariats to ensure

reach out to all members of the party with updates on the management of the finances of the party.

- (iii) Reach out to the electorate to raise funds for support through innovative methods of fundraising.
- (iv) Sensitise members on campaign finance and SARs rules.

8.3.4: To Civil Society Organisations

- (i) Monitoring political finance is not a one off event, but a continuous exercise which links election expenditure and resources to governance. Continued monitoring and reporting on campaign finance is imperative.
- (ii) Conduct in-depth studies and research on contributions of notable individuals and organisations to campaign funds of executive and legislative officials and their links to public procurement, privileges, patronage, legislation and corruption in governance.
- (iii) Initiate dialogue, consultations and prepare drafts for the amendment of existing legislation.
- (v) For the media, raising awareness, agenda setting, etc. is still needed because political finance is yet to occupy its place in the front burner of national discourse.
- (vi) The church and the mosque and all religious organisations should enhance their teaching and education on moral re-armament as it relates to campaign finance.

LIST OF MONITORS AND THE LOCAL GOVERNMENT AREAS MONITORED

S/N	NAME		LGA	PHONE	EMAIL ADDRESS
				NUMBER	
1	SALAMI FATAI F.		ISE-ORUN	07033620344	Fatai_fisayo@yahoo.com
2	PASTOR	MARTINS	GBONYIN	08068407192	martinsjayeoba@gmail.com
	JAYEOBA				

ARIYO OLUFEMI ADEBAYO	OYE	09066320205	Adebayoariyo54@gmail.com
OGUNLADE FRANCIS	IKOLE	08136379213	ogunladefrancis@gmail.com
ITUNU			
OLUBUNMI DARAMOLA	ILEJEMEJE	08035534607	bumacos2018@gmail.com
DOHERTY JUMOKE	EFON	08030416774	Jumokeenny77@gmail.com
			dohertyjumoke@gmail.com
PASTOR KINGS ABIMBOLA	IKERE	08062301637	Igrace174@gmail.com
AYODELE TOYIN ADEYINKA	EMURE	07068387611	oluwatoyinadeyinkaayodele@g
			mail.com
ADEWUMI OLAKUNLE	IREPODUN/IF	08034766038	matrixeduconsult@gmail.com
ANTHONY	ELODUN		_
ADEKUNLE IREWOLE	EKITI-WEST	08138582919	Emiraj4u60@gmail.com
EMMANUEL			
OGUNTADE DANIEL DARE	EKITI EAST	08032102729	oguntadedareidowu@yahoo.co
			<u>m</u>
AZEEZ KOLAWOLE	IJERO	07033141179	salaukolawolea@gmail.com
ADENIYI ADEWALE	IDO-OSI	08066635538	Adeniyiadewaleanthony@gmail.
ANTHONY			com
ROTIMI TEMITOPE	EKITI SOUTH-	08134711527	rotextopson@gmail.com
	WEST		
OYELEYE ABIODUN	ADO-EKITI	08035777031	nisdekiti@yahoo.com
FRANCIS			
OLANIYAN MICHAEL	MOBA	08038123279	ileajemichael@yahoo.com
OLUGBENGA			
	OGUNLADE FRANCIS ITUNU OLUBUNMI DARAMOLA DOHERTY JUMOKE PASTOR KINGS ABIMBOLA AYODELE TOYIN ADEYINKA ADEWUMI OLAKUNLE ANTHONY ADEKUNLE IREWOLE EMMANUEL OGUNTADE DANIEL DARE AZEEZ KOLAWOLE ADENIYI ADEWALE ANTHONY ROTIMI TEMITOPE OYELEYE ABIODUN FRANCIS OLANIYAN MICHAEL	OGUNLADE FRANCIS IKOLE ITUNU OLUBUNMI DARAMOLA ILEJEMEJE DOHERTY JUMOKE EFON PASTOR KINGS ABIMBOLA IKERE AYODELE TOYIN ADEYINKA EMURE ADEWUMI OLAKUNLE IREPODUN/IF ELODUN ADEKUNLE IREWOLE EKITI-WEST EMMANUEL OGUNTADE DANIEL DARE EKITI EAST AZEEZ KOLAWOLE IJERO ADENIYI ADEWALE IDO-OSI ANTHONY ROTIMI TEMITOPE EKITI SOUTH-WEST OYELEYE ABIODUN ADO-EKITI FRANCIS OLANIYAN MICHAEL MOBA	OGUNLADE FRANCIS IKOLE ITUNU OLUBUNMI DARAMOLA ILEJEMEJE O8035534607 DOHERTY JUMOKE EFON O8030416774 PASTOR KINGS ABIMBOLA AYODELE TOYIN ADEYINKA EMURE O7068387611 ADEWUMI ADEWUMI ADEKUNLE ELODUN ADEKUNLE EMMANUEL OGUNTADE DANIEL DARE EKITI-WEST OGUNTADE DANIEL DARE AZEEZ KOLAWOLE ADENIYI ADEWALE ADEWALE ADEWALE ADENIYI ADEWALE ADO-OSI O8036635538 OYELEYE ABIODUN ADO-EKITI O8035777031 FRANCIS OLANIYAN MICHAEL MOBA O8038123279